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TitE % Wi*ce F=7 Fif7 @ OMR TEI919ee (@96 (O€I @ | (@Il 430K i Aifacet soweiie Rwas
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NS LURRRIEC]
. AT 1:30 IS AMATS T A Fwe e[|

+  OMR TE€a9Iqa TN JGCBIS MeTl/F ol 619D (ATt W Tt iofFe Fa1q Snairs ereh! it #ifp
TG, FI LTS &AfSTH! 2T Te1 Teaa A W< ABTSlF (XS 4975 Ted {5 Fa14 AT 0.25 A
799 AT 2 FOMATS To 20 Al wT IR W@ (@ OMR Tea=@ fwat 723 |
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T, 2RITOT TS5 OMRTE#Iga (WS Ji%e &'l (<< wifai o< T2 1 W< 2lied 5jore «6! Fefien
W9 FRAFT6F #1R OMR Tea7@ew FfIFeira 279 Ffea #1faa | Sw2lt OMR Tea 2[aa Jeiiwe it 7124 |

. A M TS/ @e siae A Hiwe i1 AifaR, dhRR (SEEIE AT S
9% I RS IS fAS AT OMR TEI#ia W< eriroda fMawas ool fwaig e | (@I #<rwidic
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29|

. AN T T MRS IS (SEER @I TH1 RS [k e |

. 23w e 2 The Tite eires THT o9 AT eieed 3T THACE! OMR Teasias s dize
foral 27 | THizaerTRCel, eriiTed T T SF¢ T ANTS, AT 2420 T4 LHPFET T ‘A’ 2fFCET OMR
Teaeiae [fne dize A i wnfaq wie. fafwe 3e A" G5t a1t Ff3a =nfaw |

o IERITIC AR 49T LTSI U641 (rough) TN LRFIFOS Rl SBOZ F 2N | AFrwILIc 24541 (rough)
BN TGIAG N T (I 4R90S FlaTere FE (@RI | TeIoiaqe T @2 <541 (rough) T 21 FRISICH 0 S0
390 R IR I(F, (STOAZ T (O &[G JeTR 31 724 |

¢ 2P YN I ATHICS (FIT 40 omrte AfFea A2t I coirare Spjfadt 20e RIS AHICDIIFE 8FS
wg i ol F41 29|

. IS BT 4 SRS (@I AT AT G TR Tewte i w29 |
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ol GEee TG AR IHET(e e Seuts al 9571 70 @I AR Pk T SReTs G Al €A
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OMR T&z+1afb o3¢ T 7ItK ST S2 [f*se 200 203 (@ 2Mioitg 1-72 211G T3 sjpisfs @sipiE
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A (g T AFE 93 FaSire g1 2(e1 Al W FAQA &) (FIA! Sifsfae OMR Tea2l@ e 23 =11 |

+  Non-Standard OMRE&H71q AT (F(d SR A SRR OIHA (@11 193, 2io)f¥eia @i 71, erisifeaa
@S OMR Teasitad e Bt FiteT 900 T @R ANCER 2D 8 (AR 2D «Fi Ifer @
ARATPI5F o102 OMR Tea=iafs AFeITa 57e Fre A | A OMR TER2[T@d Jeliam F1 203 1 |

“Arwidifras FArwEs men TufEs/ @i #Itg ¥aia A S90S TJ, LTI O AT HHIFCT S0 A
FA N @R GSITRIT OMR TEaolg @3k emieia arsae ool (redd TN | (I 2K =H<T OMR
TEa7[q 3R 2hofE Tl (ReTIF ST AW S IR Fw 1 FCE, SIRCE ©iE SIS A0e 9l 1 (A |

ATFIFTE Aot e WS B Aifiseim Sitm @iet T99 S92 Tere 21|

A oo 267t Tive AT erieitar T @3 AR exsitad @re T9aH OMR Teavitad fHfwe i
(T | TRIATTH L, 2T (IS 270 T A, AR e eraioltad (e ‘A e OMR TE&atad
ffre =i A forate =1 @3 72 3e A 6 FiteT e =31

AT 7 LA TG AT (rough) FIST 2RITT (ST BT TS AR | AT 278! (rough) e
OMR TEI919 | O (FI LR TS FACS 2 11 | AW 2T @2 257! (rough) e OMR T&9ica
(R | AW 6 IR IR, O (12 OMR TR/ oI T 203 1 |

«  STHR S i ACHACE (I LA SO TS 20 N4 QR SPIf! 20e1 SRANEn AFAC a2 eiFe g e
ey 1 S|

AT SR (I ATFHLNE ATTHIEH Sfiof FAF Sy rewl A 11 |

ATFRITIR 2R 25/FCF @I g AT (@5 (R3S (i, P09 G- (I C@iess aiiess At
wNioifeF AT Topiint T2 T Sfe e ZE A | ARSI I (ISP TAR SReTTe 0 (el
T A o1 M TR SRS ATHIR FTPTR Geik S IR, O SITR SICialy (el 91 203 |
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o TaforRRT Was |l a0 | Ted SAFSIE WUEE g e e SEEe i SHme s
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E%QSTF@W ER TSI STARGHMA AT THEA™ ST |

o ity faargame SME R S fasiern I@m et T TrR@! T mie |

ity faemst TR mr ity faenzf s @t OMR fR faeef Sremme s faamatt
R fersmieran e s e fafefer anfed, ity faemest we e @remamTe e feetean
T Gityr faemstt s ‘A SEiser OMR iR feemst gremma semare ‘A faer =i e
AW S@e ‘A @ TG ETAra= =i |

o foenfermr migst @ T ™ @I TR (rough) BTHTET Gifr faemef gramm s
WA A | fsforerT e aemArEe "l i faere wen fafe 1em Ihmft o foergama
WA B ST R foegama 9 @rems= 1 AEEPEe (rough) @THIHET fesTifern @remrse ua fore
ferfa (overwriting) TETHISEAT WaT TR T (whitener) OMR Tt faretzama wiFsen & OMR fiRe ozt
A SR ST |

o Wity foemet fosi Tan wHTEAETe WEThi TR GrEear Tar I Q- Sa1 Srarsel gt
Tl TrETeTS Tt faremgEim=T sl ST TETEET S S |
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ST |

o Je-gfer § Hfdte Tor W adianelf ST It HeR Toes w9 H fod |

o gitemref @ giiyea & o foh 37k g forelt TRt Uy-gRaeht S aUr |Id U9 Yfdeht shis OMR
II-UAF H TE § | IETEUT WE, YIT-YReht i€ Tl WA 91, afg wigmell st uy1-faeht &g
‘A Tuet, 9t OMR STR-Ua | U 71T dierd | ‘A’ fel@™T & am OMR STX-Ueh U ‘A’ Rl STHifehd ST
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o Tlenell Gt TE T T (rough) F1 T-JRedert H U T TM W X Hehil | TF & OMR SW-T5 AT
37 TRt TE o TS W &l H Fohil | A1 e Th 1 A1 e OMR STR-Th W fohan 7a1 =
forSteh =1 waRT foRanm T, @1 OMR STR-U(h o1 i T8l fohal ST |

o T o AT/ EERTUT | foRdt ot farmmfar ar ym et Rearfar # it wewtor & A g

o TRIeN % <R foREt off wieneft i wien % Bied i oAl e T

o I IS emedl Terq Tt ST g IR Sl © SAiq Hideifed |t WEen S8 Hieamse Wi, Sheghere a1
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As on 15t of January, 2024, who is the Speaker of Assam Legislative Assembly ?
(A) Hitendra Nath Goswami (B) Numal Momin
(C) Biswajit Daimary (D) Rupsing Teron

1 &1 SIS, 2024 ACATE ST RYPTSR 1476 (@ 2

(A) Terom T oFET (B) TS Cifs
(C) Fmfere TraIiSt (D) IR (G
1 A SR, 2024 ACHTF P RAFPTOR S (F 2

(A) Terom T oFET (B) & WS
(C) Fmifere twarifa (D) welPiR (G
2024 AEAEM 1 AR QIfAraHre STEH SRS SgAH Fiafiien 9] 2
(A)  fedwe T (B) IAa AfHEA
() fovafaa Smdt (D) ¥ufd W

1 e, 2024 1 TH fauH GO F 2787 HiA § 2

(A)  fedge TirearHt (B) IHa Wi
(C) forwarsita <urd (D) UG A

In which of the following, cash amount can be withdrawn ?
(A) ATM (B) NEFT (C©) UPI (D) IFSC

fefaie @GR o[ T 1 Tl AT 2

(A)  «fbaw (B) «wzawfo (C) TTPrEE (D) w29FaED
MHF (FHCS 79 Bl (olet T 2

(A) «fbaw (B) «wzawo (C) TTforerg (D) wigaTGHA
T T B et St fg w2

(A) TITH (B) UASUFE (C) TIHIeTE (D) STEUHTHH!

Tehe AT fEfafEg # 9 fag W e S gt & 2

(A) T (B) TTRTw (©) fems (D)  STETHTEE
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After picking up his passenger at the office, the taxi driver drove six kilometers before he turned
left at the post office. Then he drove for eight kilometers to arrive at the airport. By a straight line,
how far is the airport from the office ?

(A) Ten kilometers (B) Twelve kilometers

(C) Eight kilometers (D) Fourteen kilometers

(B3 BIFT G FIETTS TG PREETE NG Ot = ARG +12 Sfoa™ IR T #Aiee1al, T© (oF
AETIE IR o [FERGR o2 i R [ awg AAwtel 1 S o[ [{5e aw<ee &Rs @y
&0 2

(A) g ReCEfeR (B) 3R FeeAlfsBR
(©) =g et (D) % ReAfoR

SIRACH O AT (ST 2141, BT BIeTs (ARG SIf=ee AN e (G (e iies] = [Reenifalbre sl sifercafes |
Sl SI1G FCEAIRIGE 9IS BT (31 RSN (oTTeRl | ST, ST (A [sews % e 2

(A) ™ o (B) 3 fFeenfsioE
(C) G RFeetifEGi (D) m Recenfsom

T e aegfaftre e w8 i SEart 6 6. M g < 1 'eme fa
stfafy frfdam | faft e 8 fo.fa. aremerm forll foare’ meime ditkema | oS Aagfafre fove’
MAAREH 99 T ?

(A) 9 fe.fa (B) 3 fwfm
(C) = ffa (D) T3 fwfa

FEATETA H 3T AT T T F e, T =Tereh SehER | 98 g | Ul 9% e =en | i 9
TAE T3 W g & AU o1e forcimiex 7o =ret | ueh it T ), wrfea § garE o1y fovadt W T 2

(A) <F fm. (B) e feh.H.
(ORECREX: (D) wiee fRA.

If Raghu says that his mother is the only daughter of Himadri’s mother, how is Himadri related to
Raghu ?

(A) Brother (B) Maternal Uncle (C) Grandfather (D) Son

T Y@ I (@ (97 Y BT MeF GFNG G| (o0 4] T7 (10 [ 77707 7ifFe 29 2
(A) Tl (B) = (C) Tl (D) =4

T 9 03 (T O W =BifuE N @G 1, o e 793 e [ 5o 2
(A) i (B) ISl (C) foromz (D) (=&
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4. Sfc wgen g fe fafq fommn femfs fomty wre’ frarsn, T femfss @1 g €2
(A) e (B) femm (C) e (D) fomre
4. Afc Tg weal § 6 STkt of femfs i o7 = whalidt 9t €, @1 fewif &1 79 @ o= dele § 2
(A) i (B) M (G (D) @
5.  Which of the following punctuation mark is missing in the sentence ?
Rakesh suddenly said, Last night I heard a fox howling.
Aa) .} B {1 © "7 D) {1
6.  What is the antonym of SLOW ?
(A) Fast (B) Reverse (C) Side (D) Upwards
7. What is the opposite of BEAUTIFUL ?
(A) Dirty (B) Unruly (C) Handsome (D) Ugly
8.  Which word is incorrectly spelt ?
(A) Possible (B) Permission (C) Pressure (D) Posess
9.  The count of prime numbers between 1 and 20 is :
(A) 7 B) 9 < 8 (D) 10
9. 13 %{I20 (& GNfeTE AP JJ 5lo ¢
(A) 7 B) 9 < 8 (D) 10
9. 1 (U0 20 &F S CAMoTF TR (S 297 ¢
(A) 7 B) 9 < 8 (D) 10
9. 13RI 20 4 TS et TSI HIeH ?
(A) 7 (B) 9 < 8 (D) 10
9. 1920 %F o= 19w Hemsdl &t fdt €
(A) 7 B) 9 < 8 (D) 10
10. Which word is incorrectly spelt ?

(A) Expert (B) Carpet (C) Dapart (D) Puppet
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11. A number when increased by 11% becomes 777. The number is :
(A) 770 (B) 750 C© 710 (D) 700

11. I GO MR 11% I FRCE FRLAICR A 777 2| FRAB! (202 8
(A) 770 (B) 750 ) 710 (D) 700

11. G0 3R 11% I F=0e1 777 =& | AT 2o 2

(A) 770 (B) 750 (C) 710 (D) 700
11.  HHY SASHERE 11% BR STREe 777 S| o sy -
(A) 770 (B) 750 (C) 710 (D) 700

11. TF G 9 11% 9 @R Sl & 9 777 & Sl €1 98 9@n ¥
(A) 770 (B) 750 (C) 710 (D) 700

12. Moreh (Manipur) is a road connection point of India with which country ?
(A) Thailand (B) Nepal (C©) Myanmar (D) Bhutan

12.  GNCER (W2F) ©Ied (10S (iR ([ Feoi2 T B 2

(A) QARCTY (B)  CI=Me (C) 3OS (D) oM
12. (IR (Af2F) (N (R A SRCSF G0 TGS FRAFIS] B 2

(A) AAReTY (B)  CIoMet (C) SR (D) gOH
12. "' (AfTQR) 31 YRd AR &7l BIeL e gsienn o ?

(A) TS (B) T (©) +THR (D) ya
12. TOiE (AfrR) 9Ra &1 T T % 919 gk Hueh fog ¥ 2

(4) =S (B) T (©) = (D) M
13.  Which word of the following list is not a pronoun ?

(A) He (B) She (C) And (D) They

14. The sum of two numbers is 12 and the difference of their squares is 60. The difference between the
numbers is :

(A) 3 (B) 5 © 7 (D) 9

14. 5! TR 91T 12 0% 7L YBIF 3911 oA12(77 60 | 271 GO 2Ny ¢
(A) 3 (B) 5 © 7 (D) 9
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14. 5 AT (9T 12 G OI7 A05 #A1LT 60 | AR 95 oM = ¢

(A) 3 (B) 5 < 7 (D) 9
14. A sHfSTHIA SremermEE 12 AR fodRf st g T 60 o SHSET BT S e -

(A) 3 (B) 5 <o 7 (D) 9
14. < Hemsii &1 A 12§ oK T i 1 HR 60 T 1 Hemsti & " w AW

(A) 3 B) 5 <© 7 D) 9
15. Which language name is correctly spelt ?

(A) Franch (B) English (C) Porteugese (D) Spenish
16. Where was the first capital of Ahom Kingdom established ?

(A) Rongpur (B) Garhgaon (C) Charaideo (D) Guwahati
16. S AFEHF 4L G| F'© BifH© (2w ¢

(A) T (B) sraife (C) BaRWmS (D) @G
16. S GG AL AGHIN! (FLNT Fifsre =7 2

(A) F:F (B) rwails (C) walZwme (D) @TRG
16. 3T 'g®R MaER ffafeq v eraf1at st e 2

(A) IR (B) TemE (C) = (D) T
16. 3TEMY 9IUY ! Ygail TSTeT hel Tonfud hi T2 off ?

(A) TR (B) T (©) = (D) T
17. Which of the following was not a ruling dynasty of ancient Assam ?

(A) Maurya (B) Varman (C) Pala (D) Koch
17. =R To2a (@M 3¢ 2ibiN SR = 3g wifes 2

(A) Gt (B) T (C) i (D) 36
17. 9% TaRoulm N et spiesa = areacs foet a2

(A) oF (B) (C) == (D) &b
17. RS S 9 TSRO Tl TeTs STHHE! 91 Qe 2

(A) W (B) A (C) umem (D) 4
17. fr=fafad § 9 SHE-91 I=iT ST9H 61 39 TSa9 Tal o ?

(A) (B) =HA (C) (D) ==
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18.

What does ‘fair’ in the sentence “They played a fair match” mean ?
(A) Very long (B) Within the rules
(C) Breaking many rules (D) All players are seniors

19.

19.

19.

19.

19.

If the number 47329 is doubled, what would be the digit exactly in the middle of the result ?
(A) 6 (B) 7 ©) 4 (D) 5

47329 TGRS Fe FRCE FAFADR 05 Eliers 24F ok 527 2
(A) 6 (B) 7 € 4 (D) 5

T 47329 7 e 1 =, ©igcel TeweEd 0 MREE 9=b T 21 2

(A) 6 (B) 7 Q) 4 (D) 5
e 47329 W THH GIETH], TSRARTE S oAM= 976 S ?
(A) 6 (B) 7 Q) 4 (D) 5

Ife T&AT 47329 1 SR A a1 SQ, @ aRomm o St &= | SF 91 37 g ?
(A) 6 (B) 7 <€) 4 (D) 5

20.

20.

20.

20.

20.

What type of horn is permitted in a vehicle in India ?
(A) Multitoned horn (B) Electric horn  (C) Air horn (D) Any type of horn

TSI G2 TS (FINHE el s 2

(A) IR el (B) @fes Mgl (C) arg frel (D) R @I [ el

OIS GG AR T F e el () e ¢
(A) IDER el (B) Apfes fiel (C) g el (D) @ (I e el

IRATe /1 T@H S MRATE SerER T € 2
(A) TE-TEiTEi (B) HifsgemREM  (C) aR-TMigH (D) SEfEsTEH

IR H fordt amed § fhe YR o &4 ot 31qAfd § 2
(A) HRRrE B+ (B) sciferrsh B (C) THEH (D) foet off gR & &+

21.

How long is an applicant required to wait to apply for driving licence after he has obtained the
Learner’s Licence ?

(A) 30 days (B) 60 days (C) 45 days (D) 6 months
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21, SHRAIEE AT AR ARG 2 T o12e GiefeR ARG @ SE@W FRAE GG+ ST PoTo
STl T SICoe] T 10 = 2
(A) 30 = (B) 60 = (C) 45 = (D) 6WT

21. BT FrFEe Sgwl ¢ig (FAE ARE) ANCTR 7 GFG RIS S S Aad (Giafes
FNREN) SN FR Gel) 0 (o] ST SR TG 2
(A) 30 = (B) 60 = (C) 45 = (D) 63

21. 9 forAraEmEn o9 dREE gREHEE oF M 3 Saiy dna-at g SRS faers g6 g ?
(A) ¥M 30 (B) WM 60 (C) ¥H 45 (D) TH 6

21. g ATH SEMGET ARHT & T q9 TF TS T8l R Gohal 5d qeh 36k I Y ¥ Y 3@y & foag
TR TEHY 7 2, e Iy T
(A) 30 fem (B) 60 fe (C) 45 fem (D) 6 HAfed

22.  Which of the following is an output device ?
(A) Keyboard (B) Speaker (C) Mouse (D) Microphone

22, TleIRS 71725 (NG 9Bl SNeE[b feigy ?
(a) FTE (B) =AW (©) iz (D) T

22, TIA (PR G0 SNCo5G T 2
(A) FIEe (B) Piim (C) e (D) WiZCFICE

22, TEEM FeE HTY AHE 30TS] (ST=Yd foHEd) ?
(A) &g (B) TEueRt (C) w=H (D) &% &’

22, frafafed # § SF-91 T 8eye feard T2
(A) wHES (B) WX (C) =™ (D) HIEHI®H

23. What single word would mean the same as “the base frame of a car or bus, or any such wheeled
vehicle” ?
(A) Framework (B) Chassis (C) Cabin (D) Monocoque

24. The flag of which country is triangular in shape ?

(A) Brazil (B) Kuala Lumpur (C) Sri Lanka (D) Nepal
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24. (P (R GOR ol fqgenigies 2

(A) i (B) FIEMENSE  (C) Awers (D) TN
24. (PN (TR AT SNPhe [geia 2

(A) aifew (B) FAEIEMNeE  (C) AR (D) G
24, o TG R smaforam ey ?

(A) s (B) FeATATTAR (C) dicieht (D) U
24. T 30 &1 geT BRI SRR & €2

(A) SSiter (B) AT (C) Hicisht (D) U
25. Who wrote Arthasashtra ?

(A) Brahmagupta (B) Swami Vivekananda

(C©) Raghuram Rajan (D) Chanakya
25. w9 (pic feififee 2

(A) FHeY (B) I Riasslemw

(C) SN SrE (D) DIy
25. g (S fercfece 2

(A) T (B) FI Rdlew

() SgEE (D) wiRw
25.  refeTeTEl | oA ?

(A) T (B) w&H farsieri<

(C) THUH S (D) =mureR
25. e fene foran ?

(A) S (B) Tt feder

(C) THUH A (D) =mureR
26. The numbers that cannot be expressed in the form of fractions are called :

(A) Whole numbers (B) Recurring numbers

(C) Prime numbers (D) Irrational numbers
26. ST Fo© A A (R[] TRAN@TE @Al a3

(A)  spefran (B)  CoTMsenfa= w2t
(C) GNferss 1A (D) ARG R4
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26. (T IRASCENCE SR Ao AP 3! R | OIS 0T 8

(A) wTde SR (B) SIg® AR
(C) CifeRs 74 (D) SISfRCTR F120
26. WM ARG drEmerE<l Hel faer gm, fodrat |
(A) e e (B) SeRiftFAE STt
(C) = safSH (D) FSieenfa sEfsm
26. o WA 9= fiel % &9 H e & {1 S Hehar, FEarnd § -
(A) Tl gen (B) 3Tt Hem
(C) 9 §&Al (D) STURH" HE

27. A man types at the rate of 45 words per minute. How long will he take to type 555 words ?
(A) 12 min 15 sec (B) 12 min 20 sec
(€) 12 min 30 sec (D) 12 min 45 sec

27. % e ARSHINTS 45 *[77 GiZel TR 211 | 555 Bl *7 5129l FRACH (99T AT (Z-A I 2
(A) 12 WG 15 e (B) 12 TG 20 (vrre
(C) 12 WFG 30 brpe (D) 12 TG 45 (5rpe

27. @35 fe A4S WNG 45 =<7 5izol S| 555 *197 5izol F00 ©FF F© T 19/ 2

(A) 12 W5 15 Cee (B) 12 WG 20 Gide
(C) 12 W5 30 CPe (D) 12 WG 45 CPe

27. O ARG HH 45 Hed /e 2E g9 el W 555 ket ey oA foEn o | i 2
(A) 12 fafte 15 %< (B) 12 fafte 20 ¥h<
(C) 12 fafte 30 ¥h< (D) 12 faf1e 45 ¥<

27. U EH 45 Isg Wid foe ot X ¥ 22 a1 § 1 39 555 Ieg @Y HA B a1 qHa o ?
(A) 12 e 15 Ths (B) 12 fHe 20 Uk
(C) 12 fie 30 Wehe (D) 12 fHe 45 Wehe

28. A number when multiplied with 1111 results in 7777. The number is :
(A) 7 (B) 17 < 70 (D) 77

28. @Bl MAIF 1111 (3 =<9 IR AW 7[<eIFeT (2R 7777 | FRANCG! (=2 ¢
(A) 7 (B) 17 (C) 70 (D) 77
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28. &b WYICE 1111 AT @0 FHC FoAIPe 7777 2 | AL 27 2

(A) 7 (B) 17 (C) 70 (D) 77
28. HMY SEHEE 1111 S SHSTEea 7777 S| o SHfSHeE =1 2

(A) 7 (B) 17 (C) 70 (D) 77
28. TUeh T I 1111 ¥ TN FH R 7777 U< Bl & | 98 H&A ¥

(A) 7 (B) 17 (C) 70 (D) 77
29. Who was the commander of Koch King Naranarayan’s army ?

(A) Raghabendra (B) Chakradhwaj (C) Tingrai (D) Chilarai
29. (I TR GRRIRAR GRIsifs (P oifes 2

(A) IEH (B) bERS ) foaiz (D) Toera
29. (T (D e AR R ERiHAfe forem 2

(A) FEEE (B) bR ©) fo=iE (D) foerix
29. FHF TSIl AARIAA AHY TR R ?

(A)  TEeg (B) ke ) fdwm= (D) foomm=
29. WHE TS TEAREY 1 HA1 o HAG HIH 9 2

(A) TEEH (B) =haS (C) fdmrE (D) faem=
30. Oja pali is a religious component of which region of Assam ?

(A) Lakhimpur - Dibrugarh region (B) Silchar - Karimganj region

(C) Haflong - Hamren region (D) Mangaldoi - Nalbari region
30. CTI5{Ife] SPTE (I ST G LT THMA 2

(A) TTRN7F - [TZ91C wizee (B) 1o - FfAwslg wixea

(C) TTER - TSI BI=es] (D) AN - RIS S
30. SEI%{Ifel SPIC (PN SIReCeT G 41 bIA 2

(A)  FIRF7 - TCeae S1ee (B) TToa - FRlg Sies

(C) TER - QI S (D) I - TERING Si2es]
30. ST ST a9 ST HHd SRR omeeR Tfeqen ?

(A) RfAY - Tegmme (B) THe=R - &S

(C) oA - FEA (D) TG - TAeR
30. IS UTelt 3T9H & TR €651 1 T o oeh § 2

(A) TETR-fege & (B) ToerR-=H{wis &

(C) TRATT-THA & (D) WIERR-AaaTe! &3
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31. What is the synonym of BRAKE ?

(A) Parking (B) Slow (€) Clutch (D) Gear
32. Find the value of 18—[6—(4+2)] —5.

(A) 9 (B) 16 (C) 13 (D) 11
32. 18—[6—(4+2)]-539 % ¢

(A) 9 (B) 16 (C) 13 (D) 11
32. 18—[6—(4+2)]—5 @& S (7 74|

(A) 9 (B) 16 (C) 13 (D) 11
32. 18—[6—(4+2)]-5 T A fgd :

(A) 9 (B) 16 (C) 13 (D) 11
32. 18—[6—(4+2)]—5 1 AMH F1d i |

(A) 9 (B) 16 (C) 13 (D) 11
33. What is the Collective noun for bananas ?

(A) bunch (B) pack (C) Dbouquet (D) bowl
34. 2% of 3% of 5000 is :

(A) 5 (B) 3 © 2 (D) 6
34. 50009 3% 2% (= ¢

(A) 5 (B) 3 © 2 (D) 6
34. 5000 @9 3% 99 2% 27 &

(A) 5 (B) 3 © 2 (D) 6
34. 5000 7 3% 1 2% @1 o 2

(A) 5 (B) 3 < 2 (D) 6
34. 50003 3% H 2% T :

(A) 5 (B) 3 © 2 (D) 6
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35.

35.

35.

35.

35.

In India, a vehicle is driven on the

(A) right side of the road with the driver sitting on the left side of the vehicle
B) left side of the road with the driver sitting on the right side of the vehicle

D

CITeIFS QU A l

(A) IBWE CIFICE HETRI 2 S BTG SNG 1R ANETFIE IR AT |
(B) BT AT SCEARI W SR HIerren MBI GHeICs Af2 AT |
(C) B CIFICE HCETRI T B BIETFGH MG T (HFICA AR A |

(D) JBR IASTIE HETRI T AR HIERFGH 2CIT AETHIE A2 AT |

TRCS @I A B =7 ]

(A) AW CINMCP SN HIeRR I0 AT AW
(B) IR ANMCE SR GIeRF I07 AT TS
(C) FVIF CINMCS SN HIeRF IC7 AL TIRMCS

(D) IR JMC SR HIeTR I0 AT AW

IRAE H M |

(A) I STRTSIY e AR SR MR Safe forw |
(B) TATHIM STNTFATY WIeTal STRI W MR SAFTRI 5= |
(C) I STNTSIY AT STRI SreTraman MR swerel fo=rn |
(D) TATHI STRTRATY STeral STRI W MR STty form |

WA H M A I |

(A) USH TR AR, 3R =1eTh A & 91 AR ST B |
(B) WEH & TS 3R, IR AT AT o [E AR 931 7 |
(C) USH o TR 3R, IR =TeTh JMEA & < AR 931 T |
(D) TSH & T 3R, IR ATeTh a1 o a8 3R o2 & |

(
(C) right side of the road with the driver sitting on the right side of the vehicle
(D) left side of the road with the driver sitting on the left side of the vehicle

Paper-VIA 17
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36. When TANK is coded as KNAT, then what would be the fifth letter if PROCESS is coded in the
same way ?
A) C (B) E © O D) R

36. I TANKS KNAT @ F'C F4! 2, (ST 7 F'TS PROCESS F HRITs1 301 #1265 (o1 5 29
Ay C (B) E © O D) R

36. M TANK &3 AFofie KNAT 28, 93 PROCESS (F I38SI([ AT RIS o140e ©iRF “izes SmHfb
IR 2
@A) C (B) E © O D) R

36. 9 TANK @ KNAT %€ WM, 31sall PROCESS Wl T8 8 Wieyset faf afer giwien o1 smie 2
A) C (B) E © O D) R

36. & TANK %I KNAT & &9 H shifed foman smam §, @ PROCESS %l 39 YR @hifed fht M W, ST
Ti=el 3T&T AT B ?
@A) C (B) E © O D) R

37. In which event did Neeraj Chopra win Gold Medal in 2020 Olympic Games ?
(A) Discus throw (B) Hammer throw (C) Shot put (D) Javelin throw

37. 2020 WA (4eTo TI9G (GieliE (AR (T G 2[7F e IR 2
A Tz’ (B) (@’ (C) #5670 (D) (STCSem &

37. 2020 SHAE GG @I /47 (30S05) TS (G176 T+ ferres 2
A) o= e (B) =¥ (C) %570 (D) (Trefem ¢

37. 2020 3nfAfte AERAME RS TR 96 T G 9 TSd HAQEH ?
(A) feo=wm g (B) ®BURY (C) LY (D) Sivfed o

37. IS =9el A 2020 A @l § fora 99l § ol g5 Sidr 2

(A) fewrm ot (B) T (C) Wege (D) Safers o
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38.

38.

38.

38.

38.

First serialized on social media and then published as a book, Life of a driver : Cabin’or Ipare is
written by :

(A) Pratibhu Dutta (B) Rupam Dutta (C) Debabrata Das (D) Ramanuj Goswami

2 ANIETF ArTe RIRFSIR, FPieie Fole AFiE aFie @ 727 57 9 TI2OF ¢ (FRVT 29T
Feloiew fordl feem ¢

(A) efsg we (B) FolNwe Q) RS (D) IS Cafrgrn

AT AT T QIR B S @ Sresoid 93 2 aFifie g6l /3% o72F @ BI3el ¢ (FlRad
B ARSI

(A) dfsg we (B) FITE Q) &S wA (D) S Corgrs
fferma wifede fafearma wik wRE o faft s fasmaft #& fogn Smm fosme amew 9% @ g »
Ffer7 ¥ 2R Wi GR fa T -

(A) iy T3 (B) ¥UH TT (C) <oed S (D) IS Tt

el GIvTel Hifed R hes, 3R R Uk J&as & 9 | YR, TE® 3% T SEav : a7 391 fhas
3 forel 7 2

(A) vy <a (B) ¥9H TT (C) <dsd T (D) IS TRt

39.

What does “apple of one’s eye” mean ?
(A) Target for practice (B) Special favourite, beloved person or thing
(C) Most hated person (D) A sincere and loyal person

40.

40.

40.

40.

40.

The place value of 2 in 4213.6 is :
(A) 213 (B) 2 (C) 200 (D) 20

4213.6 S 2 F BN T 2
(A) 213 (B) 2 (C) 200 (D) 20

4213.6- (S 2 & FIIF % 3

(A) 213 (B) 2 (C) 200 (D) 20
4213.6 A9 UHME 2 T AmEf=ni 71 fogT :

(A) 213 (B) 2 (C) 200 (D) 20
4213.6 H 2 1 TJHIT M ® ¢

(A) 213 (B) 2 (C) 200 (D) 20
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41. Which of the following should not be in the same group ?

(A) Paper (B) Eraser (C) Pen (D) Textbook
41. FRRBRS @EG 96! AT LG SHve 2

(A) Jlore (B) =W (C) =™ (D) =R
41. oA (PG 9L D ICS AP Tfow 77 2

(A) i (B) YRR (C) T&m™ (D) e
41. o6 HEYAT IS Ol ST ?

(A) TER (B) E@IHN (C) e (D) o=
41. Trafafed § 9 :F-91 T & 998 W @ o Afed ?

(A) =TS (B) e (€) A (D) TISIIETH
42. Which of the following items is related to works by Sir Isaac Newton ?

(A) Rocket (B) Atom Bomb (C) Semiconductor (D) Automobile
42, RS (GG BR AZGF WOGTR S (IS A~ 2

(A) AT (B) BN @I ) s (D) '5sEiEe
42. A (I I AZEIE HEHER e A T{Fo 2

(A) =6 (B) SefRE @™ (C)  weifRaR (D) 57 aifS
42. TEME e SESET HR ST oS |Hr<) g ?

(A) THe (B) TWeH o (C) Uff w<eRex (D) 31 'HaEeA
42. TreAfafed § § FH-H W TESF <A & Fiadl 9 Fafyd g2

(A) Tehe (B) WA & (C) Urishga (D) e
43. Which of the following set is incorrectly matched ?

(A) M:13 (B) S:20 G W:23 (D) K:11
43. WHERS @G (9T 9w T aferel Y& IR 2

(A) M:13 (B) S:20 (C) W:23 (D) K:11
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43. I (I WEAD TeTOIE (AN IR 2

(A) M:13 (B) S:20 Q) W:23 (D) K:11
43. TIRIS SRE AARAR fog -

(A) M:13 (B) S:20 Q) W:23 (D) K:11
43, freAfafed § @ F-91 92 o gaferd § 2

(A) M:13 (B) S:20 Q) W:23 (D) K:11

44. Which of the following is the highest mountain peak of India ?
(A) Everest (B) Annapurna (C) Nanda Devi (D) Kanchenjunga

44. FRFIRS GAG ST Thmes soxjzel ?

(A) GeIEe (B) wmmsiefi Q) Wil (D) SlewerRal
44. HA @FED ST A AL 2

(A) 9o (B) sl (C) W (D) FleeSiedt
44, NI SHTEA g fufate -

(A) TR (B)  sT=Tquif (C) =1 s (D) SheAsEn
44. frafafed # @ FE-9 IRT F T S 790 RS €2

(A) TEE (B)  3T=Tquit (C) T (D) eI
45. The average of first ten consecutive natural numbers is :

(A) 5 (B) 6 (C) 5.5 (D) 6.5
45. 23 WRH| T FeIR FAS AT ¢

(A) 5 (B) 6 (C) 5.5 (D) 6.5
45. A9 7 FiE FreIRF AL 9T 25 ¢

(A) 5 (B) 6 (C) 5.5 (D) 6.5
45. R SHE faitas 7m 15 5ty smfS R sspemn

(A) 5 (B) 6 (C) 5.5 (D) 6.5
45. YW TH HUNTT Wihfask Hemedl &1 ofd € -

(A) 5 (B) 6 (C) 5.5 (D) 6.5

46. Dangerous driving means :
(A) Jumping a red traffic light (B) Violating stop line
(C) Using phone (D) Any one of all three
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46. eI SlG] BIow I (0T & 2
(A) < Gl o125 SR (B) B 1IRGS TeiHH
(C) (IR IR (D) fofgbR [ @I @bt Efbw 2w
46. ReieEm AGT GIEM! (TR GigfeR) I#TCe (@RI ¢
(A) = Gifes e SRt (B) Bl =IeH F1eq
(C) PN TIRIFA (D) feafor @ @ie @
46. TiIq-=nq] MR AreEAREE i -
(A) Tiren SRk aferat A (B) U @A Wi
(C) R SREAM™ (D) ®H 3T SrEfEsmn 29 See
46. T grEfaT & e ®
(A) e IR It e (B) &Y WIEH Rl Secio hil
(C) RIF o1 ITART AT (D) HIH ¥ ®E T
47. Which of the following numbers has the highest digit in Tens place ?
G 736 (i) 269 (i) 958 (iv) 219 v) 793
A) ™ (B)  (iii) ©) () D) @)
47. RS @G AR K e A WS S0 IR 2
G 736 (i) 269 (i) 958 (iv) 219 v) 793
A) (B) (i) ©) () D) @)
47. TIA (P AR T BIC AR OF AR ?
G 736 (i) 269 (i) 958 (iv) 219 v) 793
A) ™ (B)  (iii) ©) () D) @)
47. TEEMA & sHfSER g 9 e <fiE foam 2
G 736 (i) 269 (i) 958 (iv) 219 v) 793
Aa) (B)  (iii) ©) () D) @)
47. fr=fafea § 9 forg 9o 1 o w@E & WH | g9y fus T2
G) 736 (i) 269 (i) 958 (iv) 219 v) 793
A) ™ (B)  (iii) ©) () D) @)
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48. How can you distinguish a Transport vehicle from other vehicles ?
(A) Looking at tyre size (B) By the colour of the vehicle
(C) By vehicle size (D) Registration number plate
48. SIRAEF AR QU (FINCH! P 3T TS S A2 #1<1 7T Bl SR #Aif 2
(A) RIS SR (B) NEH el
Q) ANCR =R (D) GRS TR T
48. Oy SNG T NCACE F (w0 WA ifsieel qre Hiee e Al 2
(A) BIFE SFE e (B) AICR A0ER @il
(@OERICER IS ERAE (D) “GRW T T
48. T T Tl M@ TFH MRGR ToR1E Het faAmRme ?
(A) <ERM SRAFE! TAH (B) TR TMer@l A&
(C) TR RS (D) Tf=TE TR el
48. T UREET ATEH i T Al 9 hd ST i ?
(A) TRR % SATHR hl SEH (B) WEARITH
(C) dEd % SHR I (D) USieRu e wie g
49. Identify the combination similar to :
Tyres : Round : Black
(A) Trees: Green: Tall (B) Windows : Glass : Square
(C) Pipes : Round : Plastic (D) Bricks : Rectangle : Red
49. TR ¢ RN 2 FA - @2 TR M ATF (@i b orle 75 |
(A) oTesiRf 3 GIOGR & e (B) Riffs 236 3 af
(C) izt 2 gafra ¢ AR (D) 320l ¢ SO ¢ T8l
49. SR AT HIG e 2
DIRl 8 CAISTIRIS & <FICeT]
(A) % ¢ 7S 2 5TH (B) IS ¢ F6 ¢ I
(C) W ¢ (oIl ¢ 2AfF6F (D) %0 ¢ SITSFI ¢ F
49. TER : IR : M - IS T@ YeE! faam -
(A) foreRt : et : Trsi (B) f&f@ : sme: =i
(C) Y : S : @i (D) 3T : 3T : T
49. TR : WA : HEAT - S TAM SIS h] T&9M |
(A) US:TT: el (B) faefwar : #iw : SR
(C) =Y : M : Wik (D) % : omd : o
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50. What is the minimum required educational qualification for obtaining driving licence to drive
Non Transport Vehicle ?
(A) Class VIII Pass (B) Matric Pass
(C) Class IX Pass (D) Not Mandatory
50. SHfRAIEE AT GifeR ARG ST A LATAGH I Peros REFars Sge 020z 2
(A) 1B =T &l (B) T S TEIf
(C) = =T Tl (D) =4l TR
50. SIoifRe ARER HIEIR Sl Siq (iR AZE™) 2NGTF G 2GR Poosl RERTe @isrel F 2
(A) OB =T Tt (B) T Ter
(C) T = Tl (D) GORERS T3
50. BT Hell T TR AT 9Er Sy aea foga sreeen 98 areif dretemnt T’ o o ?
(A) TGl IEA A (B) Hfea I
(C) @ T I (D) THIER 7T
50. TR-ufged ared 9am & SrRfan aedd & foru Serfors e i sTrevaea §
(A) e STl T (B) Hfgeh W™
(C) e Al O (D) AfFerd =&
51. Which country is Hollywood in ?
(A) United States of America (B) England
(C) France (D) Japan
51. (I (7S o000 SRfFe 2
(A) SRS eI (B) TEM®
(C) T™ (D) oM
51. 200 (IR (0¥ SRR 2
(A) i gEAIg (B) el
(C) T™ (D) @il
51. BfAI9Ql 9« Beud ?
(A) AT TS BT (B) oS
(C) Wy (D) ~mu™
51. ecigs fFaTwd & ?
(A) T T TR (B) IMie
(C) %™ (D) SITaH
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52.  Which of the following is not a region of Assam ?

(A) Brahmaputra valley (B) Karbi plateau

(C) Barak valley (D) Deccan plateau
52. fIRRS (G P O See 978 2

(A) TG Toror (B) Wi WeTefil

(C) T ool (D) wifserey SeTg ™
52. SIHA (I SPIGR G0 SI%6e 7 2

(A) e Toesl (B) <l oo

(C) T Gl (D) WIfCeR TeTef
52. TR SeEl STHHM STEe TST ?

(A) SRS BRA (B) IS SiRMA

(C) = B (D) R SR
52. frAfafed § @ SF-91 3199 o1 & TE6 § 2

(A) ST = (B) el UBK

(C) ok =t (D) SRk 1 U8R

53. The minimum educational qualification required for a bus conductor licence in Assam is

(A) Class VIII Pass (B) HSLC Pass
(C) Class IX Pass (D) Not mandatory

53. SPTTS A FEIT (AIIBIEF) T FEDR HAKE A AT W JeTon HrHiae SZe! (2R
(A) SR T TN (B) =EFH g 291 Telef
(C) T =T T (D) ATORETF T2

53. PTG AP ARG (FYIT) Sl AIq (IR 2SN ARG 13 e RleTS (Jlole] 21
(A) 1B (=T &l (B) =EFe g #[rw Tl
(C) T (= T (D) AGORETF 7

53. ST 99 HUSHRY AU fagHl amEm JHMl STeTsdl Siel e I o smem
(A) orE TR 3REE (B) Hfesw 3y
(C) e T 3o (D) TIMIER TST

53. T H o $hedel ARHY & foIu STavas =an $eiforn e gl
(A) Sl e aH (B) T TH TA § U™
(C) d when Urd (D) AfTer =&

Paper-VIA 25 P.T.O.



54. Validity of driving licence for drivers of goods vehicle carrying Dangerous and Hazardous goods is

(A) 1 year (B) 2 years (C) 3 years (D) 5 years

54. RevEaE SR FoFTE AT F0ET AT BIE QIR ARGRT (IO T (22
(A) 13" (B) 23w (C) 33=F (D) 53

54. Rofeems @3 YRFRS AN #If72e 91 A DI SGe! 7A0GF (GIRFR FABE™) (W 24
(A) 13=R (B) 23R (C) 33A (D) 53

54. fiTe]-oTe] TR WORIGHIMT SETEHR SUTSIT HeR TR Wit s1efy ema=af seaemfq fagm
(A) 9ER1 (B) IER 2 (C) @ER3 (D) @R 5

54. WA AR SEH SR HE o S 91l AereTesd died & et & ot gefan oedd & Juar safy ¥

(A) 1= (B) 2= (C) 3= (D) 5ad

55. What is generally considered as proof of casting vote ?

(A) Tick mark against name on Electoral Rolls (Voters List)
(B) Mark of indelible ink on finger nail (or other body position)
(C) Possession of Voter’s slip
(D)

Permission to enter voting booth

55. (IO AIMRETS (SHWR 2wie BRIt ol 1 27 2

A) oAl oiferel (BB Sifere) © AT KeiSice sl T
B) gl 7% (Al *<SS W Fieo) Wb il Haigk fom
C) (O fisl Fore 2=

D) (o6 (U UHIS Sae

(
(
(
(

55. A4FS (S (e 2Nl ReE @b [eabe =0 ¢

(A) R oifeer (coibR wifere) Tt [Reidics 5 oz
(B) SIGCER (2 (I *NEH S+ B/ SCo= ¥ i o
(C)  CceibicR &9 ez 71

(D) (O 4Z9 (FCH ARCR SINe
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55. R IEC]| H{IH"I@II::I foremaa’ 6I"H¢IF'I AL IERSIEEIAS 1]

(A) fomrrg st gwiiEe o) o=

(B) SR (A1 HIGWM TH ARFIAE ) TEMRE @i A3
(C) foam@ 'wiH e & Armsta o™

(D) 92 BT SUATE B! AT

55. ford oW TR T Sie STe 1 JHI9 /M S & 2
(A) ZARRA T (Fasmar =) § 8 & Fqred foeh w01 e e
(B) Sl o A (I IR & 317 M) W e @Rl i e
(C) TG W= 1 BT
(D) HASH hg H Yol i START

56. Fill in the blank :
Raju his intention to contest in the next elections.

(A) Wished (B) Conditioned (C) Declared (D) Promised

57. If 14+2+43+...+9+10=55 then 2+3+4+...+10+11=2
(A) 65 (B) 66 (C) 64 (D) 62

57. M 1+2+3+...+9+10=55, (OB 2+3+4+...+10+11="
(A) 65 (B) 66 (C) 64 (D) 62

57. AW 1+243+...49+10=55 T O 2+3+4+. . .+10+11=2
(A) 65 (B) 66 (C) 64 (D) 62

57. S 1+2+3+...+9+10=55, 3=l 2+3+4+. . .+10+11="
(A) 65 (B) 66 (C) 64 (D) 62

57. A€ 1+2+3+...4+9+10=55, A 2+3+4+...+10+11="?
(A) 65 (B) 66 Q) 64 (D) 62
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58. Name the first Swargadeo of Assam.
(A) Suhungmung (B) Suhenpha (C) Sutupha (D) Sukapha

58. SPINS AL FE(MS IS K AN G 9 |

(A) TR (B) Rz © e (D) Lr
58. SR 2N F9(MG-97 IS TG 9|

(A) TR (B) el © e (D) gr
58. 3TEHERM ffafad wriesar 9N ?

(A) Teq (B) T © I (D) gerH
58. THH % HAUYH TGS I A9 FdE |

(A) FemHT (B) T © I (D) g
59. Air : Eagle : : Water : ?

(A) Duck (B) Cuckoo (C) Pigeon (D) Ostrich
59. aIY 3 ol 22 A ¢ 2

(A) = (B) I © == (D) wfgs
59. Y 2 H9leT 82 T ¢ 2

(A) A (B) IRFe (C) ARl (D) TG iR
59. OR:SM::¥:?

(A) = (B) < Wl (C) wrE (D) ¥ cM

59. ag:ﬁﬂa::aa:?
(A) 9@ (B) whIFdA (C) HIR (D) sTifEes

60. Zebra crossing lines marked on roads are meant for :
(A) Reducing speed
(B) Pedestrian crossing
(C
(

) Giving preference to other vehicles
D) Crossing of Animals

60. [T ¥ (Gl Wik e 103 TJ=© = 2
(A)  sifocel SR

(B)  #I<BI 2N Frstiw 2'4tet

Q) o NITIF walifasR frdts

(D) =% %" Bieim 20
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60. TR AP (G PR Aol @RI ¢
INERISSRERES(AS)
(B) B! “RIAF 2e
(C) W) AR AT (rel
(D) % A7 e

60. T SrETe ¢ Ste shiE ! e wE At € 2
A) XY @ gEwE
TR ATHT SRR

C) TFA MRERA @1 21

B

~

(
(
(
(D) fSa-ARERE! TR
60. TSH W Aferd SIell ShifHT e+ forder fore 2t €2

(A) T A KT

(B) et AT T AT

(C) 3T ATl ol WATHehaT <

(D) &Rl o1 II0THA

~

61. Which word would appear at the last in a standard English dictionary ?
(A) JANUARY (B) OCTOBER (C) DECEMBER (D) MARCH

61. «B! TSP I TGS (FIFCH! *% G&FHIE <17 A 2
(A) JANUARY (B) OCTOBER (C) DECEMBER (D) MARCH

61. (I =6 G5fs SNVl 32afS SIfSHIt G (*IT AR 2
(A) JANUARY (B) OCTOBER (C) DECEMBER (D) MARCH

61. T Tl 3 Hiad fOgsa 9« Hikren AR oI ?
(A) JANUARY (B) OCTOBER (C) DECEMBER (D) MARCH

61. T IS IR H, ThHIT-TT e T 37d H ST ?
(A) JANUARY (B) OCTOBER (C) DECEMBER (D) MARCH
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62. The maximum age limit to obtain a driving licence in India is

(A) 65 years (B) 70 years (C) 80 years (D) Age, no bar

62. SIS YR FAZGH TS FRAF A TR AEH A (2R |
(A) 653 (B) 703 (C) 803 (D) R I A N2

62. SIACS SIFFIF Sl A1 (GIRfeR #AZEM™) 2SR AR I 26 |
(A) 653F (B) 703 (C) 803F (D) |WOER @ et @2

62. WRATE STEMM aEH=a fega1 i aifdmen St fawmn |
(A) @GR 65 (B) @ER 70 (C) @GR 80 (D) oI ger

62. YR H gEMET aEHT U & @t Aty g 9 ¥ |
(A) 65 (B) 70 = (C) 80 = (D) 3T W g Ush al

63. Name the punctuation mark “".
(A) Comma (B) Colon (C©) Hyphen (D) Exclamation

64. Identify the word which cannot be made by using the letters present in LEMONADE.
(A) LEAD (B) MADE (C) DEAF (D) DEAL

64. LEMONADE © <! 399 TGRS 519 FRE @1 #1751 foelie < |
(A) LEAD (B) MADE (C) DEAF (D) DEAL

64. LEMONADE %It G&oi{%e Ord I989 I 91971 31 T 1 #1415 iz a2eet |
(A) LEAD (B) MADE (C) DEAF (D) DEAL

64. LEMONADE 379 9T SEIhITS ofe el <1 ' g/ ?
(A) LEAD (B) MADE (C) DEAF (D) DEAL

64. 39 UK H Tg9H sl LEMONADE ¥ HIS[g 18R I SUNT ik &l o1 ST kel © |
(A) LEAD (B) MADE (C) DEAF (D) DEAL
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1 1 1
65. The value of the expression | 1 = = || 1= —|{1— —]is:

2 3 4
1 1 1 1
A) ¢ (B) 7 © 3 D) o
1 1 1
os. (1-3)(1-3)(1- 5 oo
1 1 1 1
4) ¢ (B) 7 © 3 D) o
1 1 1
65. (1 - Ej(l - 5) (1 - ZJWW’@
1 1 1 1
A) ¢ (B) 7 © 3 D) o
1 1 1
65. HRAEA™ (1 - Ej(l - 5) (1 - Zjﬁﬂﬁfﬁgﬁ:
1 1 1 1
4) ¢ (B) 7 © 3 D) o
65. Afeafa (1 - %)(1 - %) (1 - Bwnﬁ%:
1 1 1 1
4) ¢ (B) 7 © 3 D) o

66. The maximum punishment for drunken driving as first offence is
(A) Upto 6 months imprisonment
(B) 10,000 /- fine
(€) 10,000 /- fine and upto 6 months imprisonment
(D) 20,000 /- fine

66. TBITE (T SNET Bl FRCeT AT AT A A =B 25
(A) 6 Z 2T FIRMe

(B) % 10,000 /- I i<l

(C) 10,000 /- T GRERI S=: 6 MZ +FF FAMS

(D) 20,000 /- I SR
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66.

66.

66.

PTG 20 e BIFWIF Tl A 2RI eI AT =N 2=
A) 63T 2 TR

B) 10,000 /- SRl

C) 10,000 /- SR G 6 TFT T FAMS

(
(
(
(D) ¥ 20,000 /- SE=1

S Bt MR et Bfer < gassen, fafq sifgaen T Sere
A) TH 6 fam e Tiferard A WA

B) 10,000 /- SIRHMI

C) 10,000 /- SREAMT 3R H 6 Tam S Aferare S ST

D) ¥ 20,000 /- SIRHEF

(
(
(
(

T H TS T W Uge! IR Y TRy Tl g
A) 6 TEH % H h

10,000 /- ST AT
10,000 /- %1 S[ATT 3R 6 HEH ok i e

D) ¥ 20,000 /- ST SHMAT

B

~—"

C

~_~ o~ o~ o~
~—

67.

67.

67.

67.

67.

Which of the following states does not share borders with Assam ?
(A) Nagaland (B) Bihar (C) Mizoram (D)

RS (P eSS TG 0 T ?
(A)  S9lCeTe (B) == (C) Tren=w (D)

T3 AT ey (@G S TS 7 2
(A)  wieleTe (B) == (Q) e (D)

TR o TSI STHES RAH AAATST ?
(A) MRS (B) fer (€) fws'mm (D)

frafafed § 9 SH-91 ToF 3199 & 91 9rHT 9ign el hidl § 2
(A) TS (B) fa=R (C) Thsim (D)

Tripura

=gt

=gt
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68.

68.

68.

68.

68.

A yellow coloured number plate on an Indian vehicle indicates :

(A) Electric vehicle

(B) Commercial vehicle
(C©) Ambulance
(D)

D) Governor’s vehicle

OITOIY AR TAL I AFE (2T & 9o 2
(A) gfe

(B) <fifeTs arew

(©) 9=

(D) ST A

OIS NECS o7 I06 TR WO 0 8
(A) wgfesanfe
(B) affers anfe
(C) =l ¢ SIZera 2Ifeeid aifS (SurgeEm)
(D) AEHAIT 5ife

TS TR TF SeArairel 1 e efTsel | el 2
(A) HifsaTasii @RI MR
(B)  hICTINTAT TR

(D) TESHTTRE MR

YR &g T Tt 17 i Hewie s ewid 2

(A) ot ama
(B) @nfurfosen o
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69.

69.

69.

69.

69.

If 7 mangoes cost X 91, then the cost of 3 mangoes is :

(A) 28 (B) %35 (C) %37 (D) %39

I 7 Bt K Wi T 91 2, (O0F 3 B SN TN ¢
(A) %28 (B) 35 (C) %37 (D) 39

I 7 % e wiw T 91 = o) 3 5 e i =3
(A) T 28 (B) %35 (C) %37 (D) ¥ 39

oTg 7 TSI ST T 91 AT, T3 3 TSI ST o ?
(A) T 28 (B) %35 (C) %37 (D) ¥ 39

Jfe 7 T} it KHAT 91 T, 1 3 3AH i HIAd ©
(A) T28 (B) T35 (C) T 37 (D) %39

70.

70.

70.

70.

70.

A person purchases a defective item at I 1,500, repairs it at I 900 and sells the item at I 5,000. The
sales tax he had to pay is ¥ 100. The net profit percentage the person earns on selling the item is :

(A) 80% (B) 60% (C) 120% (D) 100%

G& T2 GBI 7 AN T 1,500 © TF FE T 900 (F GRS FECe 9iFe AT 9w T 5,000 © [ FHceT |
ffaa 251 (9¢ T 100 R F=@ w0 T |1 ANG 1o [iF SR Tegzes oew 341 9 e ok
olfsTie 2T ¢

(A) 80% (B) 60% (C) 120% (D) 100%

@3 e T 1,500 ed @36 SfBoif T8 T 67, T 900 e (amsTe 63 @3k % 5,000 fcx 78t Kiara 367 |
oiF (@ Rew 9 face 2@l ol 2213 100 | 38 e @ fes @b wifers wirea =roid 221 ¢

(A) 80% (B) 60% (C) 120% (D) 100%

T AAEE 18 MY S 99eE! 2 1,500 9 SEAH 2900 1 wRm eFE 25,000 1 wHieaeE | fo
%100 B A ST 1AM |  JEREI EEAM {9 Fie QHEA™ A staraist srer -
)

(A) 80% (B) 60% (C) 120% (D) 100%

T A T 1,500 T Teh Te T TS §, T 900 T IHh! TIHT T © 3TR 37 9% 13 5,000 W o=l
T A N okl X RET A7 2100 ¥ 1 K T o9 W A S Y oY G AN FAI T IR

(A) 80% (B) 60% (C) 120% (D) 100%
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71. What would come as the next character after B, E, J, Q ?

A) T < w (D) Zz
71. B, E,J, Q3 <! I! fF 2T 2

A) T < w (D) Z
71. B,E, ], Q<3 #ae! orwafs [F 23 2

A) T < w (D) z
71. B, E, ], Q{7 3@ 9« si@ien S ?

A) T <© W (D) Z
71. B,E, ], Q% &I ST &R FAT S ?

A) T < W (D) Z
72. What was the name of the capital of ancient Kamrupa Kingdom ?

(A) Darranga Pragjyotishpur (C) Garhgaon (D) Itakhuli
72.  A6M I IS IS T F wifea o

ISERGH Aeemifeds@  (C) awaffe (D) 2oigf
72. S5 FRA ACEHR ASKINE < [ foet 2

(A) &R decenifors@  (C) awafe (D) Zoigat
72.  TEIH SHEEY TFSH TSI SR ?

(A) <rm EIUERIGINCR (C) TEmE (D) Zegd
72. YHEM HHEY GUST i TSI b1 1 A9 91 2

(A) T EILERIIRERR (C) e (D) Zegd
73. Lohri and Baisakhi are commonly celebrated in which state ?

(A)
(B)
(C
(

)
D)

Paper-VIA
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73.

73.

73.

73.

TR SR (I S[eT08 (e ST Al 91 27 2
(A) o

(B) &N
(C) w2Ag
(D) ey

T2 8 (I TR JeTe (i AT SRS = 2
(A) o

(B) Mg
(©) w2AIg

(D) ey

TR T JAREGET o1 JESITE W ST ?
A)  GHE 9T

(
(
(
(

Tt 3R a3 IR R o T H TR S 9t @eR € ?
(A) 9f¥=H s
(B) HSE

(C) Wy
(D) BETE

74.

74.

74.

Which colour of paint is prohibited on vehicles except Defence Vehicles ?

(A) Orange (B) Saffron (C) Olive Green (D) Dark Blue

foTr Rl MER AW S NETS (& € Fig 2
(A) T (B) (o=l (C) TeTlE GTegl (D) =« el

ofoz oY A T S AR (@ 76 Wi 2
(A) T (B) CoreRl (C) TwEieliE e (D) 4G <o
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74. I & TG @I B MR ST et Maf MREre W= |16 2
(A) TR-HFAM TS  (B) T TE (C) SA®wE-MiMe (D) | e e
74. &I IR I BISH 3T TRl W G 1 1 U afia €2
(A) R (B) HHr (C) g BT (D) e e
75. When are the elections for Lok Sabha generally held ?
(A) Every five (5) years (B) Every four (4) years
(C) Every six (6) years (D) Every ten (10) years
75. EROTSR b AiRers @fox Sefoe 27 2
(A) & #T5 (5) 9289 & TS (B) & bifq (4) T2 03 I
(C) dfo = (6) I=59 (I YA (D) o W (10) T (S I
75. (EIRPTSR N5 aEers & Graim swfos 27 2
(A) s =5 (5) = (B) S bla (4) 7=
(C) dfe = (6) = (D) @fs vl (10) T=7
75. g e T o
(A) ¥R 54 3T @ S (B) @GR 4 1 37 3@ st
(C) R 6 T4 37 3= S=I (D) &R 10 1 37 376 S
75. 3T IR W AhHY & A9 F9 8 © ?
(A) WU (5) 9 | (B) W TR (4) Wit H
(C) T (6) WA | (D) X H (10) 1A |
76. Rakesh is taller than Subodh. Their friend Atanu is the only one to be in the basketball team that
requires player’s height to be above six feet. According to height, who is in the middle ?
(A) Subodh (B) Atanu (C) Rakesh (D) Cannot be determined
76. I JRICOF 94| (SEENT I Se@2 GG I ACHOIR WoTe TG (TS SGie] FR(Z TS
(XA TS PO S T A | THo! ST N4 FTS (e SR ?
(A) A (B) 1o Q) [ (D) Fdfa sfa @RI
76. T AN GR o7 | O g, SNo2 GG ACR6IA 7(e AR (Q9) I T (ARG Goool T

FHOA (@M Z0e 27 | Tl ST (F N B/ AR ?
(A) I (B) ey (C) A (D) fsfize <=1 3 =
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76. ThHTM YouTRge S | TR @l sTagea’ Siehe 9c S 9’ STeme HHHET 9’ ST @™
6 Fet Sfa S | Ssiers 7Y, 9R e ?
(A) g (B) 3 (©) T (D) FHEen
76. THT, GAIY Y T | SR S 3T SEhsiel 3H | At B o fore wshams A § ferees fag faerst
H FAE BT I A TR BT AT &1 HaTE o SITIAR 7 H i ¢ 2
(A) g™ (B) @1 (C) THW (D) @ & fepan <1 qehe
77. Mark the correctly spelt word :
(A) Essantial (B) Essentsial (C) Essencial (D) Essential
78. The song “Poka Dhanor Majey Majey” was written by :
(A) Tafazzul Ali (B) Anandiram Barua
(C) Parbati Prasad Barua (D) Rudra Barua
78.  “oRFl NS A0S ACS” - A Troq o 3
(A) owEgE ifel (B) SIS I=Al
(C) RS emm 7=l (D) % 374l
78. Al AN WA e oM Freee ¢
(A) SITgE Slet! (B) SIS el
(C) IS 2w Izl (D) Fm@ &
78. ‘U1 o A A Hegw foral -
(A) TEIA el (B) SAHfeT™ w%el
(C) i JHIE w%a (D) &g &l
78. ‘"Rl YR HS AS' i fohEeR g foran m o ?
(A) TS ST (B) AR wroa
(C) TS TR ST (D) &g &%
79. Which word in the following sentence is an Adverb ?

“The tiger is running faster”.
(A) Tiger (B) The (C) Faster (D) Running
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80. Pongal is a winter folk festival primarily of which State ?
(A) Tamil Nadu (B) Bihar
(C) Madhya Pradesh (D) Punjab
80. (M9 Aros (I AEHI ATSTA (1T G 2
(A) wifiEg (B) =
(C) M (D) “gK
80. (M9 IETS (I AT G0 ATSIRTN (FAIF G 2
(A) wifiEmg (B) f=m
(C) M (D) Mgl
80. T Sfsl TSI TSR Yo el ?
(A) dIfHe g (B) feom
(C) e gew (D) =T
80. il gEmd: fohd T ol fdehTele ik @IER © 2
(A) dfferTg (B) feom
(C) e gew (D) dsT
81. Which of the following communities of Assam features prominently in Rita Choudhury’s novel,
Deu Langkhui ?
(A) The Kacharis  (B) The Mishings (C) The Tiwas (D) The Mottocks
81. STl (G1ET TATM (78 MYE © WHFEARS (@I Temizs i Jares TR Sz 2
(A) =S (B) fufbg (C) fexl (D) o5
81. ol (GIETR Ty (re F1YE SPIGR MRS STemmel st @Rt Remeia T (o 2
(A) 2 (B) It (C) Tzl (D) 6T
81. Tan =i Wt ™, <9 |Algs, A1 AWM 56 g Frara faen wrerm ?
(A) ®BRI (B) fafd (C) famm (D) e
81. a1 Srerlt & IUI <3 ARGE B o o frfaifed # 9 fohw e 1 wmar 9w w2

(A) wHBH (B) fufdw (C) faan (D) ¥R
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82. The number plate of an Electric Vehicle (EV) in India is coloured .
(A) White (B) Yellow (C) Green (D) Black

82. CRSIHS G @AYFeF A (EV) I 799 Toh< 39 |
(A) el (B) =&l Q) oiE (D) &

82. ORICS @PeF A (EV) G T TFIHE 16 28 |
(A) (B) =™ ©) /& (D) <
82. WRAME HifsdsTR MRA (EV) TR Hell el e |

(A) TR TS (B) TIHITE (C) e e (D) e e
82. YRA ¥ Toifdeek amed (EV) &l o) =i &1 T i
(A) Hhe (B) drem (€ & (D) Tl
45 6 7
83. The smallest fraction amongst 5% 7 and Py is :
4 5 6 7
(A 3 (B) o © - )
4 5 6 7 o
83. g,g,;wgawﬂmmﬁ\w 2
4 5 6 7
(A % (B) o © - )
456 .7 e 2
83. Ty R o GF N FESH SR T ¢
4 5 6 7
(A 7 (B) o © - )
45 6 7 .
83. g/ g/ ; 3T|ﬁ g 1 NS RSN ERCIICIELC] B 3T -
4 5 6 7
(A % (B) o © - )
456 (7.
83. g,g,; gﬁ'ﬂﬁ'@[?ﬁ'ﬂfﬂ?%
N 4 5 o 8 7
(A4) (B) © D) 3
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84. The fraction equivalent of the recurring number 0.222 . . .is :

11 1 3 2
9 B 3 © T D) 3
84. (TWesjfelm RN 0.222 . . . T FIGeT SAIKH 2
11 1 3 2
9 B) 3 © 19 )
84. SIFE A 0.222 . . . G FTTgeT SAARH T ¢
N 1 g L o 2 o 2
(A 49 (B) © T D) 3
84. 0222...17 99N drEE@<E! g
N 1 o L o 2 o 2
84. STl HWEAT0.222 ... % HAGA f9=1 © :
11 1 3 2
9 B 3 © T D) 3

85. What is presently the minimum age to be eligible for voting in the General Elections of India ?
(A) 21 (Twenty one) years (B) 20 (Twenty) years
(C) 18 (Eighteen) years (D) 16 (Sixteen) years

85. SRS A FRHbTS STV (@il 270 IO PeTos| 2 fF 2
(A) 21 (i) I=] (B) 20 () T2
(C) 18(8%) IR (D) 16 (@) I=7

85. CRICeH MR FRGE (OfF e @IATOR Tely o3l T TSI F© 2
(A) 21 (ag) 7= (B) 20(Ffe) 7=
(C) 18 (TNR) I=A (D) 16 (CIIeT) I=A
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85. oTfuwETea YRaft |eRA fomma 'forre foramera’ 1 AT aisTzan SieT -
(A) 21 (3 /) dER (B) 20 (3 &) SR
(C) 18 (9 gr) drER (D) 16 (V7" ™R

85. WA % 3TH gl H HagH & e urst 8 & fow sefwm # =aw o1y = ® 2
(A) 21 (3FpIE) T4 (B) 20 (¥9) =
(C) 18 (3%°RR) = (D) 16 (de®) d

86. Which of the following scale is used to measure earthquakes ?
(A) Richter Scale (B) Enhanced Fuzita Scale

(C) Volumetric Scale (D) Reaumer Scale

86. RRIRS (SR (Fel Biie=R diwe) e A0 929 790 = 2

(A) R e (B) dfae FHfedt e
(C) RTSETF e (D) (I9 (T

86. R #(f13I7] FACS WHH (P (F I FAN R 2

(A) o cFe (B) «NZIATC Fferel (Fel
(C) ShSETT e (D) RoR &=

86. TR oa Thetsil SifHTEHTIE! AT ?

(A) TR whd (B)  SRIEAT BTl Tohed

(C) WI<ISTe I The (D) T e

86. ¥ WO o fotu f=fafea # & ford whal o1 3TA fohan ST © 2

(A) TRt wra (B) 31d Hfeial whal
(C) difcrsHfes wha (D) TR &hd

Paper-V/IA 42



87.

87.

87.

87.

87.

Babli was born a year after her parent’s marriage. At present Babli is six years old, and her father
is twenty five years older than her. If the father is two years older than his wife, at what age did
Babli’s mother get married ?

(A) 22 years (B) 23 years (C) 21 years (D) cannot be determined

forg-sed aie «aesT forme AT o (2fert | 9N AR [ 591 = T SIS fofes 3397 Size s 7 21
wfE | W foies TP (097 AGIN RTO(F 12 I=F WP, (S0 KFale T2 JT© ARET S Mg {12 (2w 2

(A) 223= (B) 233 Q) 213=R (D) Fdfa s @RI

foroner e O 929 #i7 IRl &3 5 | TSI M- T30 = 92, 992 ©IF forel Wi (2 A= qea
TG | M IR O FIF (AT 42 IR I 2 O, AR 3 T I8 I R0 IR 2

(A) 223 (B) 233 Q) 213 (D) ffize <=1 3 =

areIferan fomn- T g SR 9§ A6 SiFW JHel | 1 Sretasn § SR TR faf o fafgg = e
SR 1A 1 s foreit maf7 fafefrgs SR 3 e, st aefa fommn =i seste gen s 2

(A) A3 9ER B) AfNgmeEErR () ANIIER (D) FAEEN

T T ST IHeh HIAI-Td & IMET o Th | o5 goTl o1 | Fhemse see 3 §a i § 3R 36k foa
SHY U= 9re 9 € | Afe fadr stoet ueh 9 1 99 9% ¥, < serel 6t 67 ki 9el R 3y o g8 ?

(A) 22 9 (B) 23 & (C) 219 (D) T =&l fohan s weha

88.

88.

The compensation for ‘Hit and Run” Motor Accident case resulting in death is
A) Rupees One Lakh
B

~—"

Rupees Two Lakhs

(
(
(C) Rupees Two Lakh Fifty Thousand
(

D) Rupees Fifty Thousand

59 SICIT FI{ ARG 26 e I 212 TGS JOreriae FiRere Fioo7eq w_if+ (22
(A) G =1 Bl

(B) W2 N G

(C) WY 2l FeT Gl

(D) =l &R 5Hl
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88. AT =l AT 25 e AN A Lo e T Gff T[T G 22 |
(A) 3T GRAl
(B) 7T Bl
(C) WB T ~ize TSI Tl
(D) 7l & BIFl

88. ‘‘Hhumem wWR'' ™ (fee wwe T) Her MR e W goar 9 Mereen 7wt grema et

88. ‘fec Uz W' WX gt At H g & faw &t S aredt gatarst st A § |
A) TH d@ T
3 TG T

C) T IRE T4 TR T

B

~—

(
(
(
(

D) TI¥ SR T

89. Find the odd one out.
(A) 436 (B) 298 (©) 746 (D) 639

89. IfSe FRANCH! fWefT 5 |
(A) 436 (B) 298 (C) 746 (D) 639

89. Tl Jrwr (=5 520 ¢

(A) 436 (B) 298 (C) 746 (D) 639
89. SRl fom
(A) 436 (B) 298 (C) 746 (D) 639

89. SISIIS =T Ul oY |
(A) 436 (B) 298 (C) 746 (D) 639
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90. Who of the following was amongst the first disciples of Srimanta Sankardev ?

(A) Madhabdev (B) Lachit Barphukan

(C) Ananta Kandali (D) Mahendra Narayan
90. FINfR® (@H 21T ST * IR AL RRPRES Gon i 2

(A) TR (B) =IMb® 9T

(C) S Ffer (D) =@ e
90. fcE TraRom (3 ANE ScFawCaa AL e PRy e Gve fogew 2

(A) LR (B) =Ifo® Iz

(C)  OWE ST (D) 2™ SEIFA
90. TIEEM UR |1 HiH=< Yiehtaa e Fieiien i Teie | | ?

(A) HYH (B) wlfad sRepehd

(C) o Husel (D) Wes TEA
90. frafafed # @ = #idd viwiea & veel foredi 6 9 92

(A) WTHaed (B) e SXhehd

(C) oa Hhefa (D) ¥&= A
91. 121 + /81 + /25 is equal to :

(A) 121 (B) 81 (C) 25 (D) 36
91. 121 + /81 + /25 I ¢

(A) 121 (B) 81 (C) 25 (D) 36
91. 121 + /81 + /25 71 7 ¢

(A) 121 (B) 81 (C) 25 (D) 36
91. 121 + /81 + /25 = S

(A) 121 (B) 81 (C) 25 (D) 36
91. 121 + /81 + /25 FUM & :

(A) 121 (B) 81 (C) 25 (D) 36
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92.  Which of the following words would come first in an English Dictionary ?

(A) Hectometer (B) Decimeter (€) Kilometer (D) Centimeter
92. G KAG! SfwHiTe FHERS (HFFCH! =% A0 =ifeq 2

(A) Hectometer (B) Decimeter (€) Kilometer (D) Centimeter
92. IO (P *A(6 TS SIfCHICT LU ST 2

(A) Hectometer (B) Decimeter (€) Kilometer (D) Centimeter
92. TEEM 99 WRET SUfS ARE fagsta famitas I ?

(A) Hectometer (B) Decimeter (C) Kilometer (D) Centimeter
92. feifeifad # & -9 weg AU Tegehiel H Hod Teed A 2

(A) Hectometer (B) Decimeter (C) Kilometer (D) Centimeter
93. Which word is the Synonym of STRANGE ?

(A) Abnormal (B) Complete (C) Strong (D) Perfect
94. A piece of land surrounded by water on three sides is called :

(A) Peninsula (B) Island (C) Isthmus (D) Atoll
94. 3 g% TS Teel #{Ti =R AN O (IRl 2 ¢

(A) oGl (B) =7l Q) @ (D) eRETRI
94. fo1 Tucs o@ 7| @fRe «3 e S 0 ¢

(A) ToRiel (B) =7l Q) @ (D) _ETal
94, TRRAMRY TS SEAIH TEH BE TS -

(a) few (B) feu (© g (D) e e
94, IF SR ¥ a1 I ToRT g3 ofH T THS FgA T

(A) WP (B) &M (C) =T yf (D) T
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95. Each angle of an equilateral triangle is :

(A) 90° (B) 60° (C) 45° (D) 30°
95. 5! IR fages B! (e M ¢

(A) 90° (B) 60° (C) 45° (D) 30°
95. b PRI fqgred 2fol (@i 2= ¢

(A) 90° (B) 60° (C) 45° (D) 30°
95. T TS AR ST @ A g -

(A) 90° (B) 60° (C) 45° (D) 30°
95. Tk HHETE A 1 Jeieh hIvl I AH T :

(A) 90° (B) 60° (C) 45° (D) 30°
96. Identify the Article in : The man was walking fast.

(A) man (B) walking (C) fast (D) the
97. The penalty for driving at excessive speed by a Light Motor Vehicle driver is

(A) 1,000/~ to T 2,000/~ (B) ¥ 3,000/-

(C) T 500/- (D) ¥ 5,000/-
97. 19 Az G4 BIETCE SIONfEF (I57S oG HraIkE ne (2R

(A) ¥1,000/- 3 #Ri T 2,000/- o (B) ¥ 3,000/-

(C) R 500/- (D) % 5,000/-
97. oY AR HIETTH B STy IS Aee HIeTi =) Sislil 2a1

(A) R 1,000/- (At X 2,000/ - (B) ¥ 3,000/-

(C) R 500/- (D) % 5,000/-
97. EIE TS Her MR WA= Sz Mrfersi MR e gasRf S Srer

(A) 1,000/- %@ % 2,000/- 97 (B) ¥ 3,000/-

(C) R 500/- (D) % 5,000/-
97. Toh HIeR Ale dIeieh GRI STeeh TIfd & TSl Jef W AT g

(A) Z1,000/- | T 2,000/~ TH (B) ¥ 3,000/-

(C) T 500/- (D) ¥ 5,000/-
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98.

Find the correct sentence :

(A) Please listen to what I am saying.
B) Please listen what I am saying.
Please listen to what I saying.

Please listen to what I is saying.

99.

99.

99.

99.

99.

The perimeter of a rectangle is 34 cm and the length is longer than the breadth by 7 cm. The area
of the rectangle is :

(A) 40 cm? (B) 60 cm? (C) 238 cm? (D) 64 cm?

Bl STOCFAS AN 34 (5.7, W= 9 T ol 24T AT 7 .. OfEF | STerTane GRare
ey

(A) 40 v.f2 (B) 60 (.fi.2 (C) 238 (b.fi.2 (D) 64 (5.2

@3 SrerECad AfifK 34 G W3R O T ACER B 7 GIfl @ | STRreTERGaR Ffet 24 ¢
(A) 40 G2 (B) 60 G2 (C) 238 @R (D) 64 GIRP2

A At ARffes faumn 34 9.f9. o faf1 s srafgs 7 9.f9. aefad)  smeaf
Shifer -

(A) 40 9.f72 (B) 60 H.f.2 (C) 238 9.fq.2 (D) 64 H.f.2

Teh 3T o1 URATY 34 Y} § 3R oomE, ek & 7 At 31fush §1 379 o1 &57hed
(A) 40 TP (B) 60 §H2 (C) 238 G2 (D) 64 9?2

100.

Who is known as the Father of Indian Constitution ?
(A) Pt. Jawaharlal Nehru (B) Dr. Bhimrao Ambedkar
(C) Dr. Rajendra Prasad (D) Dr. Sarvepalli Radhakrishnan

100. O RIS 29 FHCA T &=l AR 2

100.

(A) “fee TR @2 (B) ©° ShRIS TIPS
(C) ©° Je™ =AM (D) ©° SE5E e

SIS MR o AN =ifFe & 2
(A) offes weegee (+TzF (B) T OIS I
(C) T AT AW (D) ©° S AT
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100. YA Gsfsefq fawr B 9 fafersm ?

(A) . SRt T8e (B) T fummE smaTER

(C) . U&= JHR (D) ©. HaYcai! TETHWH
100. MRATT Hfae™ & e & €9 H Ry M1 S € 2

(A) Y. STETEd AEw (B) . ofiTE faedt

(C) <. oig I (D) I Haqcel! qHTHSIH
101. The capital of Australia is :

(A) Sydney (B) Canberra (C) San Francisco (D) Sao Paulo
101. SRR IS (20 ¢

ISIREZI (B) @Al (C) = FIFE (D) =€ et
101. SCEEWE ST 8

(A) Trel (B) el (C) W FPPIE (D) Al 2SI
101. ST TStemEfTan -

(A) foet (B) M (C) ¥H wHfgEs®' (D) HE UEd’
101. AEfa=n st qotam ©

(A) faet (B) HaU Q) I wifeeen (D) Ef arsel

102. Who was the commander of Mughal army that was defeated by Lachit Barphukan at
Saraighat ?

(A) Man Singh (B) Vikram Singh (C) Vijay Singh (D) Ram Singh

102. *RIZA0T J7© A IFFT 0w 2[IfErs @RI @M9e GNE CHIFie @i Iifee ?

NERIIEN (B) &= foig (C) TR Pr (D) < PR
102. *RIZAG AHS FRFFER FICZ 2Rfere GIEe ERRIRTR Gisifs (& w2
(A) = B (B) f@w P (C) few g (D) == fr

102. TEHE Al sG-Sl ol ST Joel |9 I Sif-9f TR |- | ?
(A) == fH (B) form 5 (C) foma 8 (D) U= fH

102. ¥REER H Afad SR gRI TS GIel ST 1 HATART hid off ?
(A) ¥mHfHg (B) fowrm fog (C) fasa fag (D) W g
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103. What would be placed to continue the sequence 4, 6, 8, 12, 14, 18, *, *, 30 ?
(A) 20, 22 (B) 20, 24 (©) 20, 26 (D) 20, 28

103. 4,6, 8,12, 14, 18, *, *, 30 *eNCHI SRIIRS A (@ A I AR 2
(A) 20, 22 (B) 20, 24 (C) 20, 26 (D) 20, 28

103. 4,6, 8,12, 14, 18, *, *, 30 T i1 TSR Gy ST I THS 2
(A) 20,22 (B) 20, 24 (C) 20,26 (D) 20, 28

103. FRIRCTSE! AISi 3116 WIHHAT BRI ?
4,6,8,12,14, 18, *, * 30
(A) 20, 22 (B) 20, 24 (C) 20, 26 (D) 20, 28

103. 3T 4, 6, 8,12, 14, 18, *, *, 30 Tl TR W& & w1 T@n ST =1fey ?
(A) 20, 22 (B) 20, 24 (C) 20, 26 (D) 20, 28

104. The difference between the smallest of the 4-digit number and the largest of the 3-digit number
is:

(A) 1 (B) 11 (C) 101 (D) 111

104. 4 SRIYG JTos A T 3 SIS A5 AL S 212l (202 8
(A) 1 (B) 11 (C) 101 (D) 111

104. BIF SICEA Fuos 7R @R o SI0wa J2e AR M 2120 2 2
(A) 1 (B) 11 (C) 101 (D) 111

104. IS EIEA A 4 FHESHE T STANH TR FAMEE ST JF 3 FHH 91 STASTHI SRR
(A) 1 (B) 11 (C) 101 (D) 111

104. 4 i T T DI G AR 3 3Tl HI T TS G& & o d FHl SFW T
(A) 1 (B) 11 (C) 101 (D) 111
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105.

105.

105.

105.

105.

After how many days must a newly registered vehicle renew the Pollution Under Control certificate ?

(A) 1 year (B) 2 years (C) 6 months (D) 3 years

TYI(E AGR 91 9 A2 e ey s7=o)ef FRCe 2iyzel fagel eiwiel #fg &3 7l 2
(A) 1= (B) 2= © 63 (D) 3=

G e fafEhe (@RTRIC) Ares T e 5ol Tt 2imael fimge emlelelg (ST 2itaree 27 ?
(A) 13= (B) 23= (C) 6 (D) 33=

Y MR uftae e 98 Meamaf $AE  9edd $T<R =i’ hRAFEE! a2
(A) 9ER1 (B) IER 2 (C) TH6 (D) @R 3

T T Usiihd 918" & fa hH-91 99 s1afyr qof 29 W gguur f=i=ror yoTor o3 Y STavash 2l § ?
(A) 199 (B) 29d (C) 6WH (D) 399

106.

106.

106.

106.

106.

To drive a Transport vehicle, an applicant must have a Light Motor Vehicle driving licence
atleast for how many years ?

(A) 3 years (B) 1 year (C) 2years (D) 5 years

AR 12T GIZfSR B 2 AU @IS PO (P2 TR AN 7Y IS Giafer sz e
Al 2

(A) 3= (B) 1= € 2= (D) 5=

SR % DI Tol) e SRR IO 6 IS oTg A% el Sjeelofg (Gizfes «iizemi)
QPO B 2

(A) 39 (B) 1= (C) 2= (D) 5=

T Hell MR el 9rg ot THeEs! 9 Menaf T qer MR g asa—g a=i- ?

(A) @ER 3 (B) @ER1 (C) @ER2 (D) WER5

Rae aTeA i SEIAT AU UK Hid o [T STECH o U HH § HH foha- I6l qeh I oo A A6
=1 grefam aredd g =nfe 2

(A) 3= (B) 1= (C) 2= (D) 5ad
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107. Which of the following places has the largest cricket stadium ?

(A) Dharamshala (B) Kolkata (C) Motera (D) Hyderabad
107. WEEIRS (S BN J2e @t (BRI g 2

(A) LT (B) =TSl Q) el (D) ERM
107. SIC6K (P QWA IR TG {F (B =ieg 2

(A) g (B) ISl (C)  Caco (D) =RERAW
107. TR sl ST <X fshehe wfeam €2

(A) EREI (B)  heTshrdl (C) = (D) BHESTSIE
107. fr=fafed § @ forg oM © 9o w9 forhe Rfeam §2

(A) e (B) hIerehTan (C) X (D) TR
108. Who found the sea route to India from Europe ?

108.

108.

108.

108.

(A) Christopher Columbus (B) Marco Polo
(C) Vasco da Gama (D) James Cook

TR 7] ©Ies AT 2AAG! (@i o1 Sier i 2
(A) FoFR TR (B) WP o
©) =% e o (D) (EETT

(3 TSR (ACF OIFCS S @il 1 (oiaferem 2
(A)  fFEoER FerEm (B) STH (olltaTl
(C) SiTH wl o (D) (TATE

IR YRAMGAT el ammEl G- 991 Uiel ?

(A) TR "®R FHerery (B) WR' U’
(C) IR g1 TMHl (D) ¥ FH
AT § WRA 3T 1 G AR fRegs @it ?

(A) TR g (B) TR Ural
(C) amenl € MH (D) S Feh
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109. Which of the following is a Union Territory of India ?

(A) Jammu and Kashmir (B) Goa

(C) Sikkim (D) Telangana
109. WEREIRS (@G O 45 (@i S ?

(A) oY T FHE (B) Cali

(C) Tofew (D) (SRS
109. T (PG ST G F@=(Ifre Szea 2

(A) &Y 8 I (B) coma

(C) Pifew (D)  CoteTEREl
109. TR o1 ARA iR g1 sTaen ?

(A) S ST HRHR (B) T

(C) fTafwrn (D) T
109. ffafEd § § SFE-91 IR &1 TH g INFEd T390 € 2

(A) S iR HEER (B) Tl

(C) THferRH (D) el
110. Which of the following is not the name of a Continent ?

(A) North America (B) South America (C) Arctic (D) Antarctica
110. =R (@G GF TROHE T T2 2

(A) TewuiEfRe  (B) uEE SRS (Q)  f (D) @B
110. T (IR G STRICACR I 7H 2

(A) TeEwiERF  (B) uE SRS () P (D) SOFGRAOSI
110. TR o« WAL BEHT TST ?

(A) ET1 STHRR (B) Wien MR (C) UHE (D) T=RfeaH
110. FAfAREd HH-91 T FRIEMT H1 TH & © 2

(A) STl e@ls (B) W emRe  (C) ST et (D)  3ferhfeent
111. Which of the following equipments is mandatory for petrol vehicles of India ?

(A) Spare wheel
(B) Windshield wipers
(C) Catalytic converter
(D) GPS tracker
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111.

111.

111.

111.

o o

COT (2[5 5 BIfEeT® MET IS WRERS (e gt G AT 2
(A) e[l 53

(B) TR ARl
(

(

C) SHRGS I FoAITTF ((FOIeN2HF FTe0E)

D) f&f¥ag Galw

IS (G bifeTe IART Gy WREFARS (e TGN o 2
(A) e oIl

(B) TReHlT €AiZoR

(C) TELEE FAGIE! ((FOETE0F FTORGE)

(D) f&f+ias Geim

IRATS U2 Tersil SIfer MRS e o6l JH TR 81 318 2
(A) W 2ER

(B) e TR

(C) herfdfes HAHRK

(D) SHULTE. T

IRA & 2 del & fag frefafad § 9 sH-91 syeor ifed 82
A)  AfafE =

o~

B) fdedfice & aEW

C) AR Ufadss (Hefafed wma)

(
(
(
(D) ST g

112.

112.

112.

The factor by which a decimal number is to be multiplied to shift the decimal point by three digits
to the right is :

(A) 10 (B) 100 (C) 1,000 (D) 10,000

(I G W= AT wIfe KB fofbl o Giieite RIS SR A0 AU <6l Ferall
ORF(H] (2R ¢
(A) 10 (B) 100 (C) 1,000 (D) 10,000

(T QARG AR G0 6T TRANF @9 T wins [Tvg 2= fon o v geke 21 ¢
EGE
(A) 10 (B) 100 (C) 1,000 (D) 10,000
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112. OFY <THe ST o FHSTefTRS drsieise et faiet STy demy ST SR ?
(A) 10 (B) 100 (C) 1,000 (D) 10,000

112. 9% Ge1 S99 U SHd &A1 bl 0N hieh Suerd foig ol i ishi & o1 IR Tidia foha S &, %
(A) 10 (B) 100 (C) 1,000 (D) 10,000

113. Ashmita Chaliha plays for India in which sport ?
(A) Badminton (B) Table Tennis (C) Lawn Tennis (D) Lawn Bowl

113. SRl b2 (FIRRY (LTS ST (2 (AT ?

(A) @ORD (B) (53% (Bfg (C) = (b= (D) & =
113. Sl BTl (@ (461 ORISR 20 (AW 2

(A) TS (B) (Bt (BfpT (C) =W (B (D) & I
113. afHar afeern YRaf arEm 96 SEReEHRE! T ?

(A) def=ed (B) deel df™ (C) o af= (D) o 9
113. iferar =iferer ford @ § 9RA & fole Werdt ® 2

(A) Sefied (B) <o @ (C) @H ™ (D) @ a=d
114. Which of the following is the name of a Continent ?

(A) Austria (B) Armenia (C) Andrea (D) Australia
114. =GRS 7728 (PINCG! GO SRS 71 2

(A) g (B)  wicafferan (C) afgm (D) g
114. T (I G0 SRAee= 19 2

(&) g (B) wicafferan (C) ifar (D) Cgfer
114. TR &= HFE BETANN ¥ ?

(A) s (B)  SARATT (C) Tz (D) sTEIfern
114. frefafEd § ¥ SF-91 TH HeIGT & M 2

(A) ez (B) T (©) dfgm (D) sfEferan
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115. By what factor a decimal number is to be divided so that the decimal point shifts by two digits to
the left ?
(A) 0.1 (B) 10 (C) 100 (D) 1000
115. @51 WIS AR M1 KWCo! Y61 ST 1S FHACH BTRS TR0 299 BRI AN FAR2CH! ¢
(A) 0.1 (B) 10 (C) 100 (D) 1000
115. &30 Wi 74N Wil RS 120 2 e BHEke s [FeR 7ih 2799 F909 T 2
(A) 0.1 (B) 10 (C) 100 (D) 1000
115. HHE gufles SHfSHRE! TSl Teet g forgen stmfafy 9m 3 wmfsm Sragieris ?
(A) 0.1 (B) 10 (C) 100 (D) 1000
115. foreht Svmers T 1 ford wRe 9 famfaa foran ST aifer <emera foig 21 ofe ot o7R TemHiaRa &1 S ?
(A) 0.1 (B) 10 (C) 100 (D) 1000
116. The decimal representation of 3/10 is :
6/5
(A) 0.5 (B) 0.75 (C) 0.65 (D) 0.25
3/10
116. o5 < TR ALATS P FfCeT 29 3
(A) 0.5 (B) 0.75 (C) 0.65 (D) 0.25
3/10
116. 2 — (& WIS 2P FECE 2112 2
6/5
(A) 0.5 (B) 0.75 (C) 0.65 (D) 0.25
116. /10 & eI dETerEl<] 31 o :
6/5
(A) 0.5 (B) 0.75 (C) 0.65 (D) 0.25
116. /10 o1 zorerm fremr ¥ .
6/5
(A) 0.5 (B) 0.75 (C) 0.65 (D) 0.25
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117.

117.

117.

117.

117.

A person purchases a defective item for I 900, repairs it for ¥ 100 and sells the item for ¥ 1800. His
percentage of profit is :

(A) 100% (B) 80% (C) 90% (D) 180%

o S @Bt FEHo)el AT T 900 © T I, T 100 © F ([INFS I W% AN 12 T 1800 © [wt
FE| (€T ST *OIX T2 ¢
(A) 100% (B) 80% C) 90% (D) 180%

e e G Gl f&fas T 900 TR @1 S, T 100 TR GRS 6 @3% T 1800 i fefemio
R e | O IS Woiee] 2 ¢

(A) 100% (B) 80% Q) 90% (D) 180%

T AEATEE {9 M ST S9e@t T 900 i sEaE 2100 T ®e™ B T 1800 UH wHfwAr | ot
WHEAE AR SrRE<eT S -

(A) 100% (B) 80% (C) 90% (D) 180%

T Al Th @ (defective) T FI T 900 H TG T, T 100 H TR AGHI L § IR 39 a5
31800 H Sl T | SEehT e T ¥
(A) 100% (B) 80% (C) 90% (D) 180%

118.

118.

118.

118.

118.

Which country was Winston Churchill a Prime Minister of ?

(A) United Kingdom (B) Brazil

(C) United States of America (D) Switzerland
Tee Bifoe (PN o i onfe 2

(A) o=@ ey (B) lfe

(C) W<l JeIT (D) pIECES
BTG SifbeT (<Pl (T AT ol 2

(A) Jesrey (B) aifem

(C) R ge=IR (D) EEIREnIS
foreda =f<et e Bef TRE 7AfYHN ?

(A) FAEeT fohed (B) S

(C) AT SI2TE TR (D) HESIReATS
fos afdel fhg <91 & 99 95 & 2

(A) FAReE fored (B) SISiTed

(C) T T TR (D) faees
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119. Which of the following is a proper noun ?
(A) Big Ocean (B) Wide River (C) Deep Lake (D) Pacific Ocean

120. “Two weeks from now, the festivals would start”. Identify a single word substitution of the
underlined phrase.

(A) Weekend (B) Month (C) Fortnight (D) Year

121. The area of a square is 169 metre?. The measure of the side of the square is :

(A) 17 metre (B) 19 metre (€) 12 metre (D) 13 metre

121. &I I9(CFAT CFaeel (g 169 62 | I5FalbE AT (oid 29 2
(A) 17 [RER (B) 19 o™ (C) 12 [RoR (D) 13 foR

121. &6 F0ofa Fifet 169 o2 1 39(0x iz st 2o ¢
(A) 17 o= (B) 19 fow (C) 12 o= (D) 13 fo®

121. AFY 0 w169 m2, & A ARG AHAMA ST ¢
(A) 17m (B) 19m (C) 12m (D) 13 m

121. T o 1 SR 169 T2 § | 37 1 9T &I A § :
(A) 17 "X (B) 19 HiX (C) 12 HrX (D) 13 HiX

122. What is a collective noun for dancers ?

(A) Troupe (B) Gang (C) Panel (D) Board

123. Identify the Conjunction in the sentence :
Rakesh and Subham are good friends.
(A) Are (B) Good (C) Friends (D) And

124. The 2020 Summer Olympic Games was held in which country ?

(A) South Korea (B) Japan (C) China (D) Singapore
124, (PN (TS 2020 Tt SfetfF (4o Sfoe C2fee 2
(A) W Rt (B) Sl (C) B (D) feliom
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124. 2020 TISFET A G Io! (@9 (e Scaifers zafee 2
(A) Wi i (B) T (C) bW (D) FEsE

124. 2020 T SR S1faftges SeEAm™T -1 S ?
(A) @Il & (B) SIUH (C) =M (D) famgR

124. 2020 UeHeRTeH SAicifysh @ ford <91 § etmafeg fog 73 2
(A) <faor wifn (B) <MUH (C) =M (D) famR

125. The place value of ‘5" in 425639 is :
(A) 5600 (B) 25000 (C) 5000 (D) 5639

125. 425639 © ‘5 J BT W (202 ¢
(A) 5600 (B) 25000 (C) 5000 (D) 5639

125. 425639 AR ‘5’ &7 FIE A 2
(A) 5600 (B) 25000 (C) 5000 (D) 5639

125. 425639 3@ ‘5’ T omafaani qmEm |12
(A) 5600 (B) 25000 (C) 5000 (D) 5639

125. 425639 H ‘5’ 1 TAME HH © :
(A) 5600 (B) 25000 (C) 5000 (D) 5639

126. Who amongst the following led the 1857 rebellion against East India Company ?

(A) Rani Ahilya Bai (B) Rani Laxmi Bai
(C) Chand Bibi (D) Rezia Sultana
126. 32 S @i Kerm 1857 b1 (271 Reaizs Wrfefie @H s oy ffeer
(A) AT e % (B) ST T R
(C) v &R (D) @& perel
126. R TEROTR N0 (& 25 2SN (@R [KReem 1857 AR [euitz oy Ml 2
(A)  FIE STZE [l (B) T =T %
(C) vwm KRR (D) el FToial
126. 3 SfUeal S SR@W 1857 1 GHEERAEE! € AW ?
(A) T TEe &g (B) Tl wast =
(C) == fafst (D) X gear
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126.

frfafaa # 9 foeer 3= sfean ot & faem® 1857 & fagig &1 A foman ?
(A) T erfecan o1 (B) T et =T
(C) Iig sitsit (D) XS gerar

127.

127.

127.

127.

127.

Identify the correctly spelt term.
(A) Traffic Single  (B) Traffic Signel (C) Traffic Signal (D)

w7 IS Aol e 3 |
(A) Traffic Single  (B) Traffic Signel (C) Traffic Signal (D)

AT ARG *w (s e e |

(A) Traffic Single  (B) Traffic Signel  (C) Traffic Signal (D)
e 19 Herert e -

(A) Traffic Single  (B) Traffic Signel (C) Traffic Signal (D)
TE ST STt I <hl B |

(A) Traffic Single  (B) Traffic Signel  (C) Traffic Signal (D)

Trafic Signal

Trafic Signal

Trafic Signal

Trafic Signal

Trafic Signal

128.

128.

128.

128.

128.

Which of the following is not mandatory for a commercial vehicle in Assam ?

(A) Vehicle Registration (B) Night Driving permit
(C) Pollution Under Control (D) Fitness Certificate

TR MefETT A (Fqe MRS (SR AT 728 ?

(A) Az AT (B) fowell SIIGY BT Sgee vig
(C) ave fager® 72 (D) THAYEOR ololsig

o3 (IR ST ifelfenss NS ewy ATORET 78 2

(A) TR T (B) TS N BN Sl 2@
(C) =il feiarmel AP ictoia (D) @isirod =icleig
THIATTATR TR TR SelA STHETE THIER ST 2

(A) TRE 9f~EE G (B) NS HIAEH! T
(C) TS THUAE wffthhe (D) fweTw wféfrhe

318 | afuiseres ared o fo frefafea § 9 =0 siferd 7@ 7 2

(A) TR GSiteRa (B) Uf grEfam wfHe

(C) gguu Fr=ror 5 2 (D) UGS ShI FHIUTIS
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129.

129.

129.

129.

129.

Why are Red and Blue lights used in Ambulances ?

(A) To alert all drivers, even those with colour blindness
(B) Because they look good

(C) Red stands for danger and Blue for emergency

(D)

D) They can be seen from far

GYCALITIRS TG B[« Mol LD 6 IR 591 R 2

(A) TTCE DTS, SIS AT AR, oS FS A
(B) (W¥Ire O Fall (RS I

(C) 6 ITCel [ AR Tl I TRATN SZI 6
(D) V& #41 (dl (AR R

SHYEC (3 &7 @ 1o IS 92 41 27 2

(A) TS BT AT AR I S| SR SIHE ToF I Gy
(B) TR QuTE (4TS il

(C) et e [ 3R I S Sl

(D) Q%TAl V& (/TF (74l A

T TRATE | TS 3T el e St SR S ?

(A)  TIEE ARUTRRE!, ST e @1 forER@ts!, i @rersH

(B) IS TG

(C) TSI VORI I R TR e g@ms M ST hRAm
(D) & TMAHRE! TSIAARREA! Tl

Tt B A IR el sfaat i SuEnT i S € 2

(A) et SrEEdl I o A fAu, T@T 7 foR T sfuras arer &nl R ot |
(B) Hifr 9 o= fomn ¥

(C) T T EaX ol WM & AR el sTardenren feerfd & faw T

(D) 3% T H <@ 5T Tohell B |
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130.

What does “get out of hand” mean ?

(A) To walk away (B) To be very slippery

(C) To become uncontrollable (D) To getlost
131. Fill in the blank : Pradhan is a driver.

(A) Good (B) Better (C) Expert (D) Best
132. The HCF of 12, 24 and 30 is :

(A) 2 (B) 3 ©) 6 (D) 12
132. 12, 24 1< 30 T 5P (% ¢

(A) 2 (B) 3 ) o (D) 12
132. 12, 24 @R 30 @< 9P 2 ¢

(A) 2 (B) 3 ©) 6 (D) 12
132. 12,24 3 30 7 <314 feg -

(A) 2 (B) 3 ©) 6 (D) 12
132. 12,24 3 30 1 HeqH FHITRIF & ©

(A) 2 (B) 3 ) o (D) 12
133. Who presents the Union Budget of India ?

(A) The Finance Minister (B) The Prime Minister
(C) The Home Minister (D) The President of India
133. OISO (SR ACHE (P Wife S 2
(A) foeng (B)  HIE!
(© ozl (D) s g
133. (S OICS (LR SRS (ACEH) Wi T 2
(A) Few@ (B) el
(C) =G wal (D) SRTeR AFAfS
133. 9RAM S Vaas@! 9 hi-mE] ?
(A) TR 7Y (B) TR HATY
(C) &R Ty (D) ¥RAM TRRATR
133. YR B SHeld ool i T T € 2
(A) o w50t (B) M HAl
Q) TRHA (D) 9Rd s TgUfd
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134. The new name for Twitter is :

(A) AXE (B) XX (C) EAX (D) X
134. HEORE e 1% 2

(A) AXE (B) XX (C) EAX (D) X
134. LEDICHA Tl 1 51 2

(A) AXE (B) XX (C) EAX (D) X
134. ZERM TIeH ST Al ?

(A) AXE (B) XX (C) EAX (D) X
134. fAX A TN AT :

(A) AXE (B) XX (C) EAX (D) X
135. In which country did Mohandas Karamchand Gandhi stay before coming to India ?

135.

(A) South Africa (B) Uganda

TeCE IR SR 70 (N2 FREG A (P (S Iifes] 2

©)

Egypt

(D) Sri Lanka

(A) Wi Sl (B) 2allel C) 32&a (D) A=
135. SIACS ST Al (W] FIN617 aliwh T (i qes! fze™ 2
(A) vl IRl (B) Talrwl Q) fim= (D) &=
135. YRa A o qees SEs TR o ged ATEEE 2
(A) e SAhept (B) Il () fam (D) dicie
135. YRd 3TH ¥ Uee HigTed Hirse M fra w A W w 972
(A) <fequr sTwteRt (B) el ©) fum= (D) Hiciet
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136. A sequence of numbers is written in such a way that each number is greater than the preceding
number by 3. Starting the sequence from —2, the 10" number in the sequence is :
(A) 23 (B) 25 (C) 28 (D) 30

136. FRANT B! T GTAMCI IR ACS AfOTH! AL TR 579 RGOS 3 ST | TGB! —2 (T TS FIRCA
T R RG] (7R ¢
(A) 23 (B) 25 (C) 28 (D) 30

136. TR GG T IO (5Tl R (3 Al Al 748 A (50 3 WEF | —2 (AP T ST T3
@Ha 10 ©F R =04 8
(A) 23 (B) 25 (C) 28 (D) 30

136. MY ST FIRE! STETE fo A Sal 1 forame 4 JEshHal SIS Maf et o @ sHsmigs
3 XA | it — 2 S e, w10 for smfsmme -
(A) 23 (B) 25 (C) 28 (D) 30

136. TEST HT T A 39 YR foran s € fob v den fuselt 9@ 9 3 o1fys &) o sd & —2 9 g%
F W, THA FI 1091 T&N T
(A) 23 (B) 25 (C) 28 (D) 30

137. Identify the item which is not of same type.
(A) Payment (B) Rent (C) Price (D) Bill

137. RICBI sl oIS 7T, (12 7WCs! ore s |
(A) ey (B) ®Igl Q) I (D) ST

137. €38 SRR 7 2G| MG IS T |
(A) HAfe=y (B) wlEl (©) T (D) SIS

137. @ 9F SEE! 9|
(A) B (B) & (C) =& (D) fom

137. 3H 2732 &I Y8 i S Ueh & YhR i 78l € |

(A)  TdH (B) Tt (C) iHd (D) foa
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138. Identify the Antonym of WORST.
(A) Better (B) Best (€) Good (D) Fantastic
139. Choose the correct option : Teacher Puja for her bad handwriting.
(A) Scold (B) Scolding (C) Scolded (D) Scolder
140. The armies of East India Company defeated Siraj U” Daulah at which battle ?
(A) Battle of Buxar (B) Battle of Plassey
(C) Battle of Nalapani (D) Battle of Jhelum
140. (I J7© 38 (e (FITR EFIR hassmEe “[ifere Sl ¢
(A) TERTT (B) #AST5 T
(C) WK & (D) TR T&
140. (9 J07 235 2T @7 EHRIEA Presrre »[ifere s ¢
(A) I L@ (B) ~RIE Y=
(C) «=NfE Itm (D) REGE =
140. R e wrarit A faes 3 Semel 94 SEead Her 2
(A) TR TRl (B) HerE ST
(C) FreraTAf el (D) S Sreret
140. 3= e St 6t It 3 fovrst 2o+t fhg g o e ?

(A) TRR FH IS (B) Il g
(C) ATt 1 g5 (D) T 1 IS

141.

Which Pronoun can be used to refer to your friends running at a distance ?
(A) We (B) It (C) That (D) They

142.

142.

142.

Maximum speed limit for Motor cycles on Municipal Roads in Assam :
(A) 80 km/hour (B) 70 km/hour (©) 60 km/hour (D) 50 km/hour

SPTIE (TR TR 2128 69 BIREa1d AN ool 51 ST (2R 8
(A) 80 RfL/a%l  (B) 70 Bf/AGI (C) 60 FHL/=H (D) 50 [efN/ED

SPICR (TR GEIR AV (57 BT AR ittt ¢
(A) 80 =fL/a%l  (B) 70 Bf/AGI Q) 60 RFHL /=B (D) 50 [efN/ED
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142.

142.

ST ATRHTETR ATHEE H2R Tigehalld arar sifg=en e faamn -
(A) 80 fefa/s=1 (B) 70 fwmfa/s=1 (C) 60 fo.fA. /5=

3 H H TR Tgahi R TR ArEfehal & faq stferan nfq dm € -
(A) 80 ferHi/sa (B) 70 ferwi/sian (C) 60 Tori/sa

(D) 50 feh.fA./5=1

(D) 50 frdi/sa

143.

143.

143.

143.

143.

In which sport did Deepa Karmakar represent India ?
(A) Badminton (B) Shooting (©) Gymnastics

Tl TIPS (FARY (UoTe vl dfefiing TRl ¢

(A) @IS (B) < (C) fowmifes
ol TP SO (i FIoy Afeing s ¢

(A)  TEBT (B) wfoe (C) &It
a1 FHHBRT YRAM o 11 few ?

(A) wefged (B) i (C) fomfEeed

a1 FHHR 1 f7E @ § IRa 1 gfafafae fwan ?
(A) Sefed (B) gfm (C) e

LN

(D) Table Tennis

(D) (53 (BfT=

(D) (GRe (BF™

(D) dea |

(D) <od o9

144.

Which of the following is the Article in “Our instructor asked us to push the car” ?

(A) The (B) Instructor (C) Push

(D) Asked

145.

145.

145.

145.

145.

The Bordubi Tilinga Mandir is near which town ?

(A) Bongaigaon (B) Dhemaji (C) Tezpur

Fqufd foferel IR (Fiee F991 T 7IS SRFS ?

(A) S (B) (I (C) CoE=
@igR Tferel = (i =120 FCR 2

(A) Zizalfe (B) (XIS Q) (oG9
e fafereT af<w o9 AR @nfomm ?

(A) FETEE (B) eHTSH (C) dR
g feferm Hfer fore TR & e %2

(A) SiTETE (B) &SIt (C) TR

(D) Duliajan
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146. The sum of the angles of a quadrilateral is :

(A) 90° (B) 180° (©) 360° (D) 400°
146. €5 GOSTR (el (A [ (91 2

(A) 90° (B) 180° (C) 360° (D) 400°
146. 30 GOGCEH (PSR @G (9w 2 ¢

(A) 90° (B) 180° (C) 360° (D) 400°
146. HH rEf-orsl 4 & R Srerer -

(A) 90° (B) 180° (C) 360° (D) 400°
146. T TqSI o HI0N 1 AMT BT & :

(A) 90° (B) 180° (©) 360° (D) 400°
147. Which of the following is correct ?

(A) Good : Better : Best (B) Good : Gooder : Goodest

(C) Best: Bester : Bestest (D) Better : Betterer : Betterest

148.

148.

148.

148.

148.

Jonki and Panei are characters of a story based on which community ?

(A) Dimasa (B) Idu Misimi (C) Mising

Gl O AR, (I T2 fofe i1 foral o3 51 blea 2
(A) fory (B) 3z Fbf ©) ffse

T 8 Al @I TRMIER Toig fofe 7=t @l siea ofig 2

(A) e (B) 2y ffW (C) fIfi
SRt SR U 9 g 9 ' ey -
(A) feamn (B) gg fafdmm (C) fafE

Skt 2R T8 ford THE™ W SR Harl o e § 2
(A) fewm (B) g fafes (C) fafdm

(D)

Singpho

IEN&a

(ENeR|
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149.

149.

149.

The triangular shaped traffic road sign falls in the category of
(A) Mandatory (B) Informative (C) Cautionary (D) Emergency

e Sipfon Tie-ares 712 B! R @T wwee, @Rl tar |
(A)  IRTOETF (B) IHAIe® (C) FTEFOIETE (D) TRIETN

fage wigfen Gifre #2fbe @ (=fia wwsfe ¢ifs |
(A) GO (B) IPARER (C) FIeFOrTE (D) RS [PIeT T feT

149. AHRETE A HHEE @I 7l ofhe Eqa g1 |

(A)  faemsmi (B) @risTR (C) HHAeTR (D) =@ THIIeTR
149. FRIT AHR 1 AT TS fog 5| goft § o1 § 5% g

(A)  sfemd (B) g=HIHSR (C) wEHM (D) AIIehTA
150.

150.

150.

150.

150.

If 12 mangoes cost I 300 and 15 apples cost I 450, then the total cost of 4 mangoes and 3 apples
is:

(A) %290 (B) 109 (C) %190 (D) ¥ 209

T 12 I S| 7S 3 300 SN 15 B SCoAe WIN T 450 T, (90 4 Bt S W= 3 B SI0o1e@ T2 A1 JJ 2 ¢
(A) 290 (B) 109 (C) T 190 (D) % 209

Ifr 12 5 SR WISt T 300 @32 15 B oiteTa wiw T 450 33, O 4 5 =W @32 3 5 =iteicea (0ib w1 =7 ¢
(A) T 290 (B) ¥ 109 (C) %190 (D) ¥ 209

SIS T 12 TSt S8 2 300 3T & 15 STl ST 450 S, STee 91 4 7SSt 3T o1 3 STt

ST ST ST -
(A) %290 (B) 109 (© %190 (D) R 209

Ifg 12 =1 T FEd T 300 3R 15 el St HTA T 450 B, 1 4 A 3R 3 el St FoT A ®
(A) T 290 (B) < 109 (C) T 190 (D) T 209

-000-
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